o PROBABILITY
Additional Question Bank
1. A coin is tossed three times. What is the probability of getting:[SM]
(1) 2 heads
(ii) at least 2 heads.
(a) 5/8,3/2 (b) 3/8,1/2 (c) 1/8,3/8 (d) None
2. Two dice are thrown simultaneously. Find the probablht;f t]iat the sum of points on the two dice
would be 7 or more. [SM] o 3 ,L
(a) 7/12 (b) 6/12 (z;) 512 pupat’ < (d)None
3. What is the chance of picking a spade or an ace\'ngtfoi}sparde }6111 a pack of 52 cards? [SM]
(a)3/13 (b) 2/13 i (©) W = (d) None
4. Find the probability that a four d{jgl"" imb. ‘-er cﬁfniarfs;ng the digits 2, 5, 6 and 7 would be
divisible by 4. [SM] " %
(a) 5/3 (b)2/3 : d
5. Given P(A)=1/2, P(B) 1/3\\1’(\[¥B ‘uyj fﬁe value of P (A+B) is[SM]
(a)3/4 \' / ©)5/6 (d) 1/6
6. Given P(A)= 1/2 E(B) ]JB P (A];) 1/4 , the value of P (A/B) is[SM|
(a)1/2 (b)l/g/ (c)2/3 (d) 3/4
T A card is drown from each of two well-shuffled packs of cards.The probability that at least
one of them is an ace is[SM]
(a) 1/69 (b) 25/169 (c)2/13 (d) none
8. IfP (A)=1/4 ,P(B)=2/5, P(A+B)=1/2 then P(AB)is gqual to[SM]
(a)3/4 (b) 2/20 (c) 13/20 (d)3/20
9. If events A and B are independent and P(A)=2/3 , P(B)=3/5 then P(A+B)is equal to[SM]

(a) 13/15 (b) 6/15 (c) 1/15 (d) none
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Which of the following set of function define a probability space on S = {a , a,, a_}[SM]

(a) P(a,)= 1/3, P(a)) = 1 , P(a,)= 1/4 (b) P(a,) =1/3, P(a,)= 1/6, P(a,)= 12
(c) P(a,) =P(a,)=2/3, P(a,)= 1/4, (d)None

IfP (a)=0,P(a,)=1/3,P(a,)=2/3thenS={a,a,a, } is a probability space[SM]
@true (b) false () both (d) none

The following data relate to the distribution of wages of a group of workers: [SM]

Wages in Rs. 50-60 60-70 70-80 80-90 | 90-100 | 100-110(110-120
No. of workers: 15 23 36 42 17 12 5

If a worker is selected at random from the entire group of workers, what is the probability that

(2) his wage would be less than Rs. 50?7
(b) his wage would be less than Rs. 80?7

(c) his wage would be more than Rs. 100?
(d) his wages would be between Rs. 70 and Rs. (10 i
(@) 0,37/75, 17/150, 19/30

(c)0,37/75, 18/150, 19/30 /: :
Three events A, B and C are mué all /%.cluswe, exhzlustlve and equally likely. What is the
\} i -

probability of the complementary eve __t of A% [SMJ’]

(2) 4/3 (b) 1/3 \(c) 2/; W/EZi)None

A coin is tossed thrices What IS, thé [;ro’f)ablhty of getting 2 or more heads? [SM]|
(2) 0.51 V @ ®) /50 ‘g, () 0.52 (d) None

Probability of gettmg?n head )rvhen two unbiased coins are tossed simultaneously is [SM]

(a) 0.25 (b) 0 50 (c)0.20 (d)0.75

If an unbiased coin is tossed twice, the probability of obtaining at least one tail is [SM]

(2) 0.25 | (b) 0.50 (c)0.75 (d) 1.00

If an unbiased coin is tossed three times, what is the probability of getting more that one head? [SM]
(a)1/8 (b)3/8 (c)1/2 (d)1/3

Four digits 1,2, 4 and 6 are selected at random to form a four digit number. What is the
probability that the number so formed, would be divisible by 4? [SM]

(a)1/2 (b)1/5 (c)1/4 (d)1/3
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A number is selected from the first 25 natural numbers. What is the probability that it would
be divisible by 4 or 7? [SM]

(a)9/25 (b) 8/25 (c)7/25 (d) None

A number is selected at random from the first 1000 natural numbers. What is the probability
that it would be a multiple of 5 or 9? [SM]

(2) 0.29 (b) 0.28 (c) 0.27 (d) None

The probability that an Accountant's job applicant has a B. Com. Degree is 0.85, that he is a CA
is 0.30 and that he is both B. Com. and CA is 0.25 out of 500 applicants, how

many would be B. Com. or CA? [SM]

(a)451 (b) 449 (c) 450 (d) None /
A Z"

and B, only B would occur? [SM]
(a) 11/30 (b) 12/30

(2).9 (65,5‘ % ,/ (c 7 (d) None

If a card is drawn at?ﬁ i c;m' from a pack of 52 cards, what is the chance of getting a Spade or an
ace? [SM] )

(a)4/13 (b)5/13 (c) 0.25 _ (d) 0.20 53.

A bag contains 12 balls which are numbered from 1 to 12. If a ball is selected at random, what is
the probability that the number of the ball will be a multiple of 5 or 6 ? [SM]

(a) 0.30 (b) 0.25 () 0.20 (d)1/3

If two unbiased dice are rolled, what is the probability of getting points neither 6 nor 9? [SM]

(a) 0.25 (b) 0.50 (c)0.75 (d) 0.80
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If P(A)=3/8, P(B)=1/3 and P(AB)= 1 then P(A®) is equal to [SM]

(a) 5/8 (b) 3/8 ©)1/8 (d) none
If P(A)=3/8, P(B)= 1/3 then P(B)C is equal to[SM]
(a) 1 (b) 1/3 (c)2/3 (d)none
If P(A)=3/8, P(B)= 1/3 and P(AB)= 1/4 then P(A + B)is[SM]
(@) 13/24 (b) 11/24 (c) 17/24 (d) none
If P(A)= 1/5, P(B)= 1/2 and A and B are mutually exclusive then P(AB) is[SM]
(a) 7/10 (b) 3/10 () 1/5 (d)none
If P (A)=7/8 then(P(AC) is equal to[SM]
(@)1 ()0 @78 (@18
2

A man can kill a bird once in three shots.The probahﬁ'
(a)1/3 (b)2/3 (©1

;t:hat;a\bird is not killed is [SM]
. @0

If on an average 9 ships out of 10 return safe,:‘l;‘ to:a-port, fri'iﬁg;gi'gbability of one ship returns
safely is[SM] | !

(@) 1/10 | ®)8/10 (c)971

reach safely is[SM]
(a) 1/10 (b)8

(a)3/8 / g»\( . (c)2/8 (d)5/8
Two dice are rolled sunu](éneously The probability that the sum of the two numbers on the

dice is a prime number\l

(a) 7/12 (b) 5/12 {12 (d)1/12
When two dice are thrown the probability of getting 10 or 11 is:
(a)7/36 (b)5/36 (c)5/18 (d)7/16

The probability of choosing at random a number that is divisible by 6 or 8 form among 1 to 90 is:
(a) 1/6 (b) 11/90 (c)1/30 (d)23/90

Two unbiased six faced dice are thrown. The probability that the sum of the numbers on faces
of them is a prime number greater than 5 is:

(a) 1/6 (b)1/4 (c)2/9 (d) 4/9
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Two dice are thrown at a time Find the probability that the sum of the numbers on them is 6.
(a)5/36 (b) 1/5 (c)2/3 (d)1/3

The probability of getting a total score of 7 when two unbiased dice are thrown simultaneously is:
(@) 5 ) 3 © ¢ @

A coin is tossed 3 times. The probability of getting head once and tail 2 times is:

@y ®) © 3 @5

One of the two mutually exhaustive events A and B must occur. If P (A) =2/3 P(B), the odds in
favour of B are:

(al:2 (b)2:1 (©)2:3 {d)3:2

The probabilities of two events A and B are 0.25 and 0. 40 respectlvely The probability that

both A and B occur is 0.15. The probability that nelt]{férgx nﬂrB occours is:
(a) 0.35 (b) 0.65 ©0.5 Gy

A bag contains 5 black balls, 4 white balls and:3;
probability that it is either red or black is:

(a)1/3 (b) 1/4 (d)2/3

A card is drawn from a pack of l?ﬁ cal:d; }to 100. The probability of drawing a
number which is a square is:

(a) 1/5 )2 5 e (d) None of these

>
The probability that aman wgll li\}e-]LO )ﬁore years is 1/4 and the probability that his wife will
live 10 more years’ Ig:ll% }Pen,\the;probablhty that neither will be alive in 10 years is:

(a)5/12 8 (b)fI/Z (c)7/12 (d)11/12
If three dice are thrown,l_‘ Elltaneously then the probability of getting a score of 5 is
(a) 5/216 (b)71/6 (c)1/36 (d)1/72

Three identical dice are rolled. The probability that the same number will appear on each of them is:
(a) 1/6 (b) 1/36 (c)1/18 (d)3/28

Two dice ére thrown together. The probability that at leasf one will show its digit greater than 3 is:
(a) 1/4 (b)3/4 (c)1/2 (d)1/8

If E is an event, then P (E) is equal to

(a) P(E) (b) 1 -P(E) (c)-P(®) (D) 1+P(E)

A card is drawn at random from a well shuffled pack of 52 eards. The probability of getting a
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heart or a diamond is:

(a) 1/26 (b)1/2 (c)3/13 (d)1
If there are 3. children in a family, then probability that there is a one girl in the family is:
(a)2/3 (b)1/3 (c)3/28 (d)3/8

If the probability of a horse A winning a race is 1/6 and the probability of a horse B winning
the same race is 1/4. What is the probability that none of them will win?

(a) 5/12 (b) 5/8 (c) 1/12 (d) None of these
The chance of getting 7 or 11 in a throw of 2 dice is:
(a)7/9 (b) 5/9 (c)2/9 (d) None of these

Two dice are thrown together. The probability of the event that the sum of numbers shown in

greater than 5 is:

(a) 13/18 (b) 15/18

(d) None of these

(a)5/8 (b)3/8
The probability of getting a numbjer
(a) 25/100 (b) 25/98

(d) 50/100

B

A number is (:hfié"t'a"u‘4 tr dom among the first 120 natural numbers. The probability of the

number chosen beln;\a\?]ultlple of Sor15is:

(2) 1/8 (b) 1/7 (c)1/6 (d) 1/5

With the unusual notations P (A)=3/4, P (B)=p, P (4 U B)=1/3,Also. A, B are mutually
exclusive events. Then, p =

(a)1/12 (b) 1/4 (c)1/2 (d)2/3

In a family, there are 3 children. What is the probability that the family has no male child
assuming that the chances of a child being a male or female are equal ?

(a)1/8 - (b) 7/8 (c)3/8 (d)2/3

A salesman has a 60% chance of making a sale to each customer. The behaviour of successive
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customers is independent. If two customers A and B enter, what probability that the salesman

will make a saleto Aor B ?

(a) 0.36 (b) 0.84 (c)0.96 (d)0.74

What is the probability that a non-leap year should have 53 Mondays?

(a) 6/7 (b) 1/7 (c)2/7 (d)5/7

A number is selected from 1,2....,30at random. The probability that the number selected is prime is:
(a) 1/10 (b) 1/15 (c) 11/30 (d)1/3

When a coin is toésed three times, the probability of getting exactly one tail or two tails or:
(a)5/8 (b)3/4 (c)7/8 (d)2/6

IfP(A)=1/4,P (B)=1/2; P(4 w B)=5/8,then P(4 n B}JS

(a) 3/8 (b) 1/8

M:,.«mt‘:\\

() 5/8
: SEE

When two dice are thrown, the probability of getting equal m n’ibfrs is:
(2)3/36 (b) 1/36 6536, WL (d) Noneof these

: om the first 20 natural numbers.
The probability that the product is ?Mmﬁs
(a)2/19 (b)14/19 £ N 7

If a card is drawn at random from a p\"‘” "J

(2)4/13

(d) 1719
ﬁat is the chance of getting a spade or an ace?
(d) 0.20

Probability of getting a_ eacf‘;féhég;h@/ nbiased coins are tossed simultaneously is:

-
(a) 0.25 ‘ 0,50 \5 iy (c)0.20 (b)0.72
40 B @
If an unbiased di’e‘is;hiﬁ'dlffe;ﬁz/once, the odds in favour of getting a point which is a multiple of 3 is:
@)1:2 o4 ©1:3 (d)3:1

When two unbiased coinfs are tossed. The probability of obtaining 2 heads is:

(a)0 (b) 1/4 (c)3/4 (d)1/2

What is the chance of throwing at least 7 in a single cast with 2 dice?

(a) 5/12 (b)7/12 (c)1/4 (d) 17/36

A bag contains 12 balls which are numbered from 1 to 12. If a ball is selected at random, what
is the probability that the number of the ball will be a multiple of S or 6?

(a) 0.30 (b) 0.25 (c)0.20 (d)1/3

Four digits 1,2,4 and 6 are selected at random to form a four digit number. What is the probability
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that the number so formed, would be divisible by 4?

(a)1/2 (b) 1/5 (c)1/4 (d)1/3
If two unbiased dice are rolled, what is the probability of getting points neither 6 nor 9?7
(a) 0.25 (b) 0.50 () 0.75 (d) 0.80

Mr. Roy is selected for three separate posts. For the first post, there are three candidates,

for the second, there are five candidates and for the third, there are 10 candidates.

What is the probability that Mr. Roy would be selected? [SM]

(a) 12/25 (b) 13/25 (c) 11/25 (d) None

The independent probabilities that the three sections of a costing department will encounter a computer
error are 0.2, 0.3 and 0.1 per week respectively what is Epe—pgobability that there would be [SM |

(1) at least one computer error per week?

(ii) one and only one computer error per week?

(a) 0.50, 0.40

(b) 0.50, 0.41

@P(A) (mﬂ ),
The probability that a car&\draw

queen or an ace is [/§M]*

4 e \
(a)2/13 / \ (y ? (b) 11713 (c)9/13 (d)none
The chance of gettmg 7 or 1 in a throw of 2 dice is|[SM]
(a)7/9 ‘} (b) 5/9 (c)2/9 (d) none

Two students work independently on a problem. The probability that the first one will solve it
is 3/4 and the probability that the second one will solve it is 2/3. The probability that the problem

is solved is:

(2) 11/12 (b) 7/12 (©)5/12 () 1/12
A and B aremutually exclusive events with P (A)=12P(B) and (4 U B )=S, thesamplespace. Then P(A)=
@)2/3 (b) 1/3 (©) 1/4 () 3/4

A problem in examination is given to 3 students A, B and C when chances of sloving it are
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a7 ’clT repectively. The probability that the problem is solved is

(a) 3/4 (b) 1/24 (c) 1/4 (d)23/24

If S is a sample space, P(A) =1/3P(B) and S = (4 U B), Where A, B are two mutually exclusive
events, then P (A) = |

(a) 1/4 (b) 1/2 (c)3/4 (d)3/8

‘The probability of happening an event A in one trial is 0.4. The probability that the event A

happens at least once in three independent trials is:

(a) 0.626 (b) 0.784 (c) 0.802 (d)0.316

One card is drawn from a pack of 52 cards, The probability that it is a king or diamond is:
(a)3/16 (b) 3/26 (©) %13 (d)4/26

The probability of getting a total of Sor 6 in a smgleﬁ thro f2 dgce is

(a)1/3 (b) 1/4 i (d) 1/6

Given two mutually exclusive events A and B, i

(a) 0.5 (b) 0.05

= 0:45 and P(B)=0.35, then P (A or B)=
* () 0.8

is equal to

(a) 0.9 &7 (b)0.74 (c) 0.2016 (d) None of these

A problem is given to three persons and their chances of solving it are ;T ’ % ,;— respectively.
The probability that none will solve it is:

Lt INENEDS I
®3%5"% ®)3*5%% © 576 O
If A and B are two incidencies and P (A)=3/8, P (B) = 1/2, P (4 n B)=1/4, then the value of
P(4u B)is:

(2)3/8 (b) 3/4 (c)1/4 (d)5/8

The odds against an event A are 5 : 2 and odds in favour of another independent event B are
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6 : 5. The changes that neither A nor B occurs is:
(a) 52/77 - (b) 25/77 (c) 10/77 (d)12/77

The probability that the events (independent) A and B occur are 0.2 and 0.5 respectively. The probability
that both A and B occur simultaneously is 0.15. The probability that neither A nor B occurs is:
(a) 0.55 (b) 0.5 (c)0.45 (d)0.35

If the probability for A to fail in an examination is 0.2 and that for B is 0.3, then the probability
that either A fails or B fails is:

() 0.5 (b) 0.44 (c) 0.06 (d) None of these

The odds in favour of one student passing a test are 3:7. The odds against another student
passing it are 3 : 5. The probability that both pass is:
(a)5/16 (b)21/80 (c) 9/80 _ |

The odds in favour of one student passing a test are.

(2)7/16  (b)21/80 © YUY () 3/16

Find the odds against drawing 2 red alls_f . on} a.‘bagicontammg 3 red and 2 voilet balls.
; y

()3:7 (O, 2 ‘,1 _i (d)3:2

events, then P(B) =
(a) 5/7

(a)2:(n-3) (©)2:(n-2) (d)(n-3):2

If A and B are two events, such that P (A) = 1/2 and P (B) =2/3, then

@ P(A4UB)=2/3 (b) P(AUB)<2/3 (c) P(4uB)=1/2 (d) P(4uB)<1/2
The probability that a student passes a physics test is 2/3 and the probability that he passes
both a physics test and an English Test is 14/45. The probability that he passes at least one
test is 4/5. What is the probability that he passes the English Test?

(a)4/9 (b) 1/20 (c)4/5 (d)2/6

The odds against A solving a problem are 8 to 6 and odds in favour of B solving the same
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problem are 14 to 10. What is the probability the if both of them try the problem, it will be solved?
(a)31/32 (b) 16/21 (c)5/21 : (d)1/32

A, B, C are three mutually independent with probabilities 0.3, 0.2 and 0.4 respectively. What
isP(4NBNC)?

(a) 0.400 (b) 0.240 (c) 0.024 (d) 0.500.

For three events A, B and C, the probability that only A occur is:

(a) P (A) (b) P (AUBUC) (c) P(ANBNC) (d)P (ANBNC)

Rupesh is known to hit a target in S out of 9 shots whereas David is known to hit the same target

in 6 out of 11 shots. What is the probability that the target would be hit once they both try? [SM]
Y

(a) 76/99 (b) 78/99 () 79/99% -~

_ (d)None

(a)2/3 (b) 1/3 (c)4/3
The odds in favour of an event is 2 33"‘ ad anlnst another eventis 3 : 7. Find the
probability that only one of the tfvo 5 '

(a)27/50 (b) 26/50__ N (d) None

Colour
Box
I 23
11 21
I11 16

One ball in drawn from each box. What is the probability that they would be of the same colour?
(a) 1051/7728 (b) 1050/7728 (c) 1052/77;’28 (d) None

Two balls are drawn from a bag containing 5 white and 7 black balls at random. What is the
probability that they would be of different colours? [SM]

(a) 35/66 (b) 30/66 (c) 12/66 (d) None of these

The odds in favour of one student passing a test are 3:7.The odds against another student
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passing at are 3:5.The probability that both pass is[SM]

(a)7/16 (b)21/80 (c)9/80 (d)3/16

The odds in favour of one student passing a test are 3:7;The odds against another student
passing at are 3:5. The probability that both fail is[SM]

(a)7/16 (b)21/80 (c)9/80 (d)3/16

If the probability of a horse A winning a race is 1/6 and the probability of a horse B winning
the same race is 1/4 , what is the probability that one of the horses will win[SM]

(a)1/3 (b)7/12 (c)1/12 (d) none

If the probability of a horse A winning a raceis 1/6 and the Erobablhty of a horse B winning the

same race is 1/4 , What is the probability that none of themwﬂl wm[SM]

(@512 (b) 5/8 ©1/12

T B

A salesman has 80 percent chances of ma Llu algale.to e:

(a) 0.2 (c) 0.4 (d) 0.5

The probability of getting qualified in IIT JEE and AIEEE by a student are respectively 1/5
and 3/5. The probability that the student gets qualified for at least one of these tests is:
(a)3/25 (b) 17/25 (c)22/25 (d) 8/25

The probability that A speaks truth is 4/5, while this probability for B is 3/4. The probability
that they contradict each other when asked to speak on a fact is:

(a) 7720 (b) 1/5 (c)3/20 (d)4/5

Seven balls are drawn simultaneously from a bag containing S white and 6 green balls. The
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probability of drawing 3 white and 4 green balls is
(a)“l i A o B B i o

iy Tt OTe,t o
In a class, 30% of the students offered MATHEMATICS, 20% offered BIOLOGY and 10%
offered both, Ifa student s selected at random, what is the probability that he has offered MATHEMATICS
or BIOLOGY ?
(a) 1/3 (b)2/3 (c)2/5 (d)3/5
A Speaks truth in 75% cases and B speaks truth in 80% cases. The proability that they contradict
each other in a statement is:

(a) 7/20 (b) 13/20 (d)2/5

and multiplied. Find the probability that the produ

420 4 305

@ Too1 @ To01
&

The probability of hayin

(a) 15/16 | 1/16 ©u4 @ 1.

An urn contains 3 white and 3 red balls. Balls are taken out one by one at random from the urn
and kept in a row. The chance that the balls are alternatively of different colours is:

(a) 1/20 (b) 1/10 (c)9/120 (d) None of these

3 mangoes and 3 apples are in a box. If 2 fruits are chosen at random, the proability that one
is a mango and the other is an apple is:

(a)3/5 (b) 5/6 (c)1/36 (d) None of these

There are four letters and four envelops bearing addresses at random. The proability that the
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letters are placed in correct envelops is:
(a)23/24 | (b)9/24 (c)1/16 (d) 1/24
From a well shuffled pack of playing cards, two cards are drawn one by one without replacement.
The probability that both are aces is:
(a)2/13 (b) 1/51 (c) 1/221 (d) None of these
An urn contains 9 balls two of which are red, three blue and four black. Three balls are drawn
at random. The probability that they are of same colour is :
(a) 5/84 (b)3/9 (c)3/7 (d)7/17

From a pack of cards, two are drawn, the first being replaced before the second is drawn. The

chance that the first is a diamond and the second is a king is:

b\‘

(a) 13/4 (b) 4/13 ) (d) 1/104
B'“(?Aand B occuris 1/2 and the

lve probabilities of A and B are:

| ga’ad 1/4 or 1/4 and 1/3 (d)None

(a) 282/285 y N (3) 2/3/285 (c)284/285 (d)281/285

A five figure nuiﬁh i :ormred by the digits 4,5, 6, 7, 8 (no digit being repeated in any number).
Find the probability that thﬁ) number formed is divisible by 5.

(a)y1/s (b)4/5 (c)1/30 (d) 1/336

A speaks truth in 80% cases and B in 70% cases. The probability that they will contradict each
other in a single event is:

(a)0.12 (b) 0.38 (c)0.36 (b) 0.40

"Two balls are drawn form a bag containing 5 white and 7 black balls at random. What is the probability
that they would be of different colours?

(a)35/66 (b) 30/66 (c) 12/66 (d) None of these
Tom speaks truth in 30% cases and Dick speaks truth in 25% cases. What is the probability
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that they would contradict each other?

144.

145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

(a) 0.35 (b) 0.400 () 0.925 (d) 0.075
A, B, C are three mutually independent with probabilities 0.3 , 0.2 and 0.4 respectively. What is
PAABANO?

(a) 0.400 (b) 0.240 (c) 0.024 (d) 0.500

If events A and B are independent and P(A) =2/3 , P(B) = 3/5 then P(A+B) is equal to (SM)
(a) 13/15 (b) 6/15 (c) 1/15 (d) none

If P(A)=3/8,P(B) =1/3 and P(AB) = 1/4 then P(A+B) is

(a)13/24 (b) 11/24 (c) 17/24 (d) none

What is the probability that 4 children selected at randomwould have different birthdays?

’}‘,..,...., -

364x363x362 G i A
@~ 365y W = /@y
There are two boxes containing 5 white and yall an Whlte and 7 blue balls resectively.

the ball is blue is:
(a) 115/227

: 9 _ (d)2/3
'_,_a;_:_:th‘B(A{)’ 2/5/ P(B)= 1/4 and P(AB)=1/12 then P(B/A) is equal to[SM]
(b){,lx@ (c)1/8 (d) none

A family has2 children
(a1

The Probability of the occurrence of a number greater then 2 in a throw of a die if it is known

g;prpyabi]ity thatboth of them are boysiifitis known that one of them is a boy[SM]
L O (€)3/4 (d) none

that only even numbers can occur is[SM]

(a)1/3 (b)172 (c)2/3 (d) none

A player has 7 cards in hand of which 5 are red and of these five 2 are kings. A card is drawn
at random. The probability that it is a king, it being known that it is red is[SM]

(a)2/5 (b) 3/5 (c)4/5 (d)none

In a class 40 % students read Mathematics, 25 % Biology and 15 % both Mathematics and
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155.

156.

157.

158.

159.

160.

161.

162.

163.

Biology. One student is select at random. The probability that he reads Mathematics if it is
known that he reads Biology is[SM]

(a)2/5 (b)3/5 (c)4/5 (d) none

In a class 40 % students read Mathematics, 25 % Biology and 15 % both Mathematics and
Biology. One student is select at random.The probability that he reads Biology if he reads
Mathematics|SM]

(a)7/8 : (b)1/8 (c)3/8 (d) none

Abag X contains 2 white and 3 black balls and another bag Y contains 4 white and 2 black
balls. One bag is selected at random and a ball is drawn from it. Then the probability for the

ball chosen be white is to

(a) 2/15 (b) 7/15

1/5 and the probability of occurrence of F giveri I

of at least one of the events E and F is:

(2) 1/18 (d) 1/50
A and B are events, such that P (, ‘_‘ff P fj}.j;'fB) =1/4,P (A) =2/3, then P (Km B)is:
(a) 5/12 (d) 1/4

irsg i l}da

Igtters are put into the envelops; the probability that

Without looking at the addres es',;tﬁg
letters go into right Bn(elops 15\ /?

(a) 1/27 & 4 ‘ g’ (b)é"1/6 (c)1/9 (d) 1/8
The probability tha?z\i\i - V}%man will hit a target is given as 1/5. Then, the proability of at
least one hit in 10. shots is 10

1 4 10 d ﬂ
@3 (b)l—[g] @175
IfP(4n B)=0.15,P (B®)=0.10, then P (4/ B)is
(a) 173 (b) 1/4 (c)1/5 (d) 1/6

An urn contains 7 green and 5 yellow balls. Two balls are drawn at a time. The probability that
both balls are of same colour is:

(a)1/33 (b)5/33 (c)7/22 (d)31/66

A and B are two events such that P(A) = 1/3, P(B) = 1/4, P (A+B) = 1/2, then P (B/A) is equal to
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164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

(a) 1/4 (b) 173 (c)1/2 (d) None of these

The probability of the occurrence of a number greater then 2 in a throw of a dice if it is known
that only even nos. can occur is:

(a)1/3 (b)1/2 (c)2/3 (d) None of these

A player has 7 cards in hand of which 5 are red and of these five 2 are kings. A card is drawn

at random. The probability that it is a king, it being known that it is red is:

(a)2/5 (b) 3/5 (c) 4/5 (d) None of these
IfP(E)=0.3,P (F)=02andP(EV F)=04,P (EvF) =

(a) 0.4 (b)0.3 (c)0.2 (d)0.1

A bag contains 3 white, 3 black and 2 red balls. One by onegf%balls are drawn without replacing

y

them. For only the third ball to be red, The probabili
(a) 5/28 (b) 3/28 : (d)1/28

th\ﬁw’ll the girls sit together is:
(d) None of these

ﬁd ﬁle probability that no two boys and no

-
]

agd

two girls sit together.
(a) 7/132

(@) 1/210 G ©)6/35 (d) None of these
If two events A and B a]‘\g-SlfCh thatP(A) =0.3,P(B)=0.4 and P(4~B) =0.5,then P(B/A U B)=
(a) 1/3 (b) 1/4 ©) 172 @ 1/5

The letters of the word UNIVERSITY are arranged at random. Find the probability for I’s not to

come together.

(a)9/10 (b) 1/10 (c) 1/5 (d) 4/5
A singleletter is selected at random from theword ‘PROBABILITY’. The probability thatitis a vowel is
(a)3/11 (b)4/11 (c)2/11 (d)0.

For a student, the probability of getting pass in one paper is 75% and the probability of getting
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175.

176.

177.

178.

179.

180.

181.

182.

183.

pass in another paper is 60%. The probability for the student to pass in one paper (of the

two papers) only is:

(a)3/10 (b) 13/20 (c)11/20 (d) 9720

What is the probability that four S’s appear consecutively in the word MISSISSIPPT assuming
that the letters are arranged at random?

(a) 8/165 (b) 4/165 (c)2/33 (d) None of these

3 Students are chosen at random from a class consisting of 12 boys and 4 girls. Find the
probability for 3 chosen students to be boys.

(a)11/28 (b) 17/28 (c) 1/28 (d)4/28

A, B stood along with 10 others in a row. The proabilit;{,ofﬁ‘;; event of always having 3 persons

between A and B is:

(a)2/33 (b) 1/132 - & (d)8/33

The letters of the word ARTICLE are arrangetf":: ”‘ i:/he probability that the consonants
may occupy odd places. A

(a) 1/840 - (b) }}2 (& (d) None of these

The letters of the word SUCCESS are s range dom. The probability that the vowels
occupy even placesis: @l |

(@) 1/6 ) &(b[j ;ﬂw (©) 1/5 (d)2/5

Six boys and six gu‘f;.s s) ! la rm\v nnly The probability that the boys and girls sit alternately is:
(2) 1/132 i j (b)’ {462 () 1/480 d) 1/12

The letters of the word’{-’%‘@i&NGLE’ are arranged at random. Find the probability that the
word so formed starts w1ti1 T and ends with R.

(a) 2/8! (b) 6/8! (c)1/28 (d) 1/56

Urn A contains 6 red and 4 black balls and urn B contains 4 red and 6 black balls. One ball is
drawn at random from urn A and placed in urn B. Then one ball is drawn at random from urn B
and placed in urn A. If one ball is now drawn form urn A, the probability that itis found to be red is:
(a) 32/55 (b)42/55 (c) 36/55 (d) none of these

A bag contains 5 red, 3 black balls and a second bag contains 4 red and 5 black balls. One of



) o)
PA:.L}AS INSTITUTE OF COMMERCE -16.19-

184.

185.

186.

187.

188.

189.

the bags is chosen at random and a draw of two balls is made from it. Find the chance that one
is red and the other is black.

(a) 15/56 (b)5/18 () 275/504 | (d) 229/504.

There are two boxes. In the first box, there are 4 white, 5 black balls. In the second box, there
are 5 white. 4 black balls. A ball at random is drawn from the first box and transferred to the

second box. Then, if a ball is drawn at random from the second box, find the probabilitty for the

drawn ball to be white.

(a)2/81 (b) 59/90 (c)49/90 (d) 41/90.

Two coins are tossed simultaneously. What is the probability that the second coin would show
a tail given that the first coin has shown a head? g

(@) 0.50 (b) 0.25 (1:3’5765}7?:’-“" (d)0.125

L
A committee of 7 members is to be formed from a group o ryng 8 gentlemen and
phean

ladies. What is the probability that the comm:tmﬁ Would cﬁ‘mprlse [SM]
(i) 2 ladies,

(ii) at least 2 ladies. :

(a) 141/429, 391/429 (b) 42/4 “

In a group of 20 males and 15 female _

is the probability that a pei*qo_ nsel:
the selected person is a“male" [SIVi]
(a) 0.60 y ® 9,61 4 (©)0.62 (d) None

Alot of 10 electronic components is known to include 3 defective parts. If a sample of 4 components
is selected at random from’ the lot, what is the probability that this sample does not contain more
than one defectives? [SM]

(2)2/4 (b)2/3 (c)2/5 (d) None

There are two urns containing 5 red and 6 white balls and 3 red and 7 white balls respectively. If
two balls are drawn from the first urn without replacement and transferred to the second urn and then

a draw of another two balls is made from it, what is the probability that both the balls drawn arered? [SM]
(a) 66/726 (b) 67/726 ; (c) 65/726 (d)None
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190.

191.

192.

193.

194.

195.

196.

197,

198.

There are 3 boxes with the following composition : [SM]

Box I : 7 Red + 5 White + 4 Blue balls

Box IT : 5§ Red + 6 White + 3 Blue balls

Box III : 4 Red + 3 White + 2 Blue balls

One of the boxes is selected at random and a ball is drawn from it. What is the probability

that the drawn ball is red?

(a) 1239/3024 (b) 1249/3024 (c) 1229/3024 (d) None

What is the chance of getting at least one defective item if 3 items are drawn randomly from a
lot containing 6 items of which 2 are defective item? [SM]

(2)0.30 (b) 0.20 () 0.80

IfA, B and C are mutually exclusive independent and e | v ﬁ’vepts then what is the probability
that they occur simultaneously? [SM] i
(@)1 (b) 0.50
IfP (A)=pand P (B) =q, then [SM] ‘
(a) P(A/B)>p/q (b) P(A/ B)7p/q
1P (AUB) =5/6, P(A) =t and P (B))
(a)1/3 (b) 5/6 g ch
(a) 56 _ (c)46 (d) 92

If x and y are rhndom Vgrlables having expected values as 4.5 and 2.5 respectively, then the
expected value of (x— J})}}g/
(2)2 (b) 7 ()6 (d)0

There are 3 black and 2 white balls in a box. Two balls are taken at random from it. The
expected number of white balls is:

(a) 1/5 (b) 4/5 (c)3/5 (d)2/5

There are 10 electric bulbs in a box in which 3 are defective bulbs. If 3 bulbs are selected at

random from the box, then the expected number of defective bulbs is:

@)0.7 - (b) 0.9 (©) 0.6 (d)0.5
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199. Two coins are tossed simultaneously. A person receives Rs. 8 for each head and looses Rs. 10

for each tail. The expected value of the amount gained by him (in rupees) is:
(a)2 (b)-2 (c)3 (d)—4

200. A player tosses 3 fair coins. He wins Rs. 5 if 3 heads appear, Rs. 3 if 2 heads appear, Re 1 if 1
head appears. On the other hand he losses Rs. 15 if 3 tails appear. His expected gain (in rupees) is:
(a)0.15 (b) 0.25 (c)-0.25 (d)-0.15

201. Two tickets are taken at random from 5 tickets numbers 1 to 5. The expected value of the

sum obtained on the two tickets is:

(a) 5 (b)3 (c) 6 (d)7
202. There are 8 screws in a packet of which 2 are defective. If 2 screws are taken at random then

the expected number of defective screws is:

(a)0.5 (b) 0.3 (d) 0.6
203. A random variable has the following probabilitydist
X 4 5 7 8
P 0.15 0.20 0.40
Find E [x — E(x)]% Also obtain v(3x —4)i'%
(a)27.36 (d) None

.. .-:.'l'.‘-,‘.:: . .
204. If two random variables x and y are'r af‘é-df»li)yf.';f w}j— 3x, then the SD of y is given by [SM]

205. Ifxandy are random variable g.fhgv;ngféiﬁz;cted values as 4.5 and 2.5 respectively, then

y 2
the expected Vahig’” F-y) is [S
(a)2 . (b). — ()6 (d) 0 54.
206. Ifvariance of a randor E'v'}aji-)able x is 23, then what is the variance of 2x+10? [SM]
(a) 56 (b) 33 () 46 (@) 92

207. Iftwo random variables x and y are related as y =—3x + 4 and standard deviation of x is

2, then the standard deviation of y is [SM]

(a)—6 (b)6 (c)18 (d)3.50
208. If2x+3y+4=0and v(x) =6 then v (y) is [SM]
(a) 8/3 (b)9 (c)-9 (d)6

209. The expected number of head in 100 tosses of an unbiased coin is[SM]
(a)100 - (b) 50 (c) 25 ' (d) none
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210.

211.

The expected value of X, the sum of the scores, when two dice are rolled is [SM]

@9 (b) 8 (c)6 (d)7 |
The probability of winning of a person is 6/11 and at a result he gets Rs. 77/-. The expectation
of this person is[SM]

(8) Rs.35/- (b) Rs. 42/- tc) Rs. 58/- (d) none
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Additional Question Bank

1 b 44 c 87 a 130 a 173 b
2 a- 45 d 88 a 131 b 174 d
3 c 46 c 89 b 132 a 175 b
4 d 47 b 90 c 133 d 176 a
5 b 48 c 91 b 134 c 177 C
6 d 49 b 92 d 135 a 178 C
7 b 50 b 93 b 136 c 179 b
8 d 51 b 94 c 137 C 180 b
9 a 52 b 95 b 138 b 181 d
10 b 53 d 96 b 139 C 182 a
11 a 54 b 97 d 140 a 183 c
12 a 55 c 98 b 141 b 184 c
13 c 56 a 99 c 142 a 185 a
14 b 57 a 100 b 143 b 186 C
15 b 58 b 101 d 4 144 c 187 a
16 c 59 b 102 b [|[ w45 |, a 188 b
17 c 60 a 103 b Y1465 | b 189 c
18 d 61 d 104 | ..b_ 147 a 190 b
19 a 62 a 105 [ d |ws148 c 191 c
20 a 63 a 106 | \a/ | 149 a 192 c
21 C 64 b 107 2/ |¥150 c 193 b
22 a 65 b 08 | .ab) Y| 151 d 194 c
23 a 66 d ¥ 109/] “¢pl|| 152 c 195 d
24 a 67 b 110 Y. d /| 153 a 196 a
25 d 68 b 111 |} ¢/ | 154 b 197 b
26 c 69 €l a2 6 155 c 198 b
27 a 70 L wl %] L 156 c 199 b
28 c 71 b, aly 414 c 157 c 200 b
29 b 7Z0%ER b WD 115 a 158 a 201 c
30 d L3nl 7/ a S 116 d 159 b 202 a
31 d . W 117 b 160 b 203 a
32 b 75 YOEb 118 a 161 d 204 b
33 c 76 | d 119 b 162 d 205 a
34 a 77 d 120 a 163 a 206 d
35 b 78 c 121 a 164 c 207 b
36 b 79 b 122 d 165 a 208 a
37 b 80 a 123 b 166 c 209 b
38 d 81 b 124 a 167 b 210 d
39 c 82 d 125 c 168 c 211 b
40 a 83 a 126 C 169 C

41 C 84 C 127 a 170 b

42 c 85 a 128 a 171 b

43 d 86 b 129 d 172 d
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Space For Notes
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& THEORETICAL DISTRIBUTIONS OF DATA

ADDITIONAL QUESTION BANK
In a binomial distribution, the probability of a success p 1/6 and its variance is 5/12. The

number of sucesses m is:

(@)5 (b) 3

(d)2.

of the dlstributlon is:

@32 ®72

The sum and product of the mean anéi
2

g (d) 11/2

i I distribution are 24 and 128 respectively.
Then, the value of n is:
(a) 32

In a binomial distributj"(!)dn,~

(d) 35

The value of n is: /ﬁ'_;
(2) 12 , &7

A dieis thrown 5 times. éet}i;m ‘anumber 5 on the die is considered a success. Then, the probability

() 17

() 19

of zero success is:

(a) (5/6) (b) (1/6)° (c) 1-(1/6)° (d) None of these
In a binomial distribution p = 0.1 and n =500. its standard deviation is:
(a)6.71 (b) 5.71 (c) 6.92 (d) 5.92

Three percent of a given lot of manufactured parts are defective. What is the probability that
in a sample of four items none will be defective ?

(a) (0.97)* (b) (0.03)* (©) 1-(0.97)* (d) none of these

A student obtained the following answer to a certain problem given to him.

Mean =2.4; Variance = 3.2 for a binomial distribution. the result is :

(a) constant (b) imonsistantl (c)dataincomplete  (d) none of these

Four coins are tossed simultaneously. What is the probability of getting 2 heads and 2 tails ?

(a) 7/8 (b) 5/8 () 3/8 (d)1/8
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Four coins are tossed simultaneously. The probability of getting at lest one head is:

(a) 15/16 (b) 1/16 (c)13/16 (d)7/16

The mean of a binomial distribution is 12 and its standard deviation is 2, then the value of n is:
(a) 10 (b) 12 (c) 18 (d) 16

The mean of a binomial distribution is 40 and standard deviation is 6. The value of n and q is:
(a) (400, 0.1) (b) (400, 0.9) (c) (200, 0.9) (d) (200, 0.1).

If the standard deviation of the binomial distribution (q.4p)is 2, the mean is:

(2) 6 | (b) 8

there will be at least 5 successes
(a) 496/729 (b) 250/729

If the mean and variance of binomia ﬁﬁ
number of trials is: ‘

(@) 5

the parameter p is:
(a) 1/6
An experiment sécce
success at all?

(a) 1/824 (b) 1/924 (c) 1/1024 (d)1/1124

\‘é
the probability of having,};z‘

7 coins are tossed 128 times. The distribution function of the binomial is:

(a) 128Cx ) ’'C, (c) 128C7 (d) none of these
The mean of a binomial distribution is 4 and its standard deviation is /3 . Thevalue of p is:
(a) 0.5 (b) 0.25 (c)0.75 (d) 0.6

The probability of getting at least two heads when tossing a coin three times is:

(a)1/2 (b) 1/4 (c)1/8 (d)3/8

The incidence of occupational disease in an industry is such that the workmen have a 10%
chance of suffering from it. What is the probability that out of S workmen, 3 or more will contract
the disease?

(2) 0.0076 (b) 0.0086 (c) 0.0081 (d) 0.0091
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22,

23.

24.

25.

26.

27.

28.

29,

30.

..

32.

33.

Find the probability of a success for the binomial distribution satisfying the following relation

4P (x =4)=P (x =2) and having the other parameter as six.

(a)1/3 (b)2/3 (c)1/4 (d)3/4

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to that of
8 heads, then the probability of getting 2 heads is:

(a) 105/2% (b) 2/213 (c) 105/214 (d) none of these

If the mean and the variance of a binomial variate X are 2 ;113(1" brespectxvely, then the probability
that X takes a value greater than 1 is equal to: ]
(a)5/16 (b)3/16

Probabilitty of happening of an event in an exp

(2) 98/125 (b) 27};&* i
Six coins are tossed once and gettnx@gﬁﬁ%l [
of getting exactly 4 successes is:
(a) 5/32

The probability that bomb {roppegfﬁﬂma plane stirkes the target is 1/5. The probability out

of six bombs droppe‘ atle: }t 2 bm};i)s striks the target is:

(2) 0.345 " (b) 0.246 () 0.543 (d) 0.426

In a binomial dlstrlbut;in,.-gé 400, p =1/5. Its standard deviation is:

@ 192 (b) 1/800 (c) 4 (d) 8.

6 dice are thrown 729 times. How many times do you expect atleast 4 dice to show a 4 or 5.
(a) 233 (b) 73 ()72 (d)o61

When 7 coins are tossed, the probability of getting exactly 3 heads is:

(a) 35/128 (b) 93/128 (c)7/128 (d)21/128

In a binomial distribution, mean is 5 and variances is 4. Then, the number of trials is:

(a) 20 (b) 30 ()25 (d) 35

A random variable X takes the values—1, 0, 1. Its mean is 0.6. If P X=0)=0.2,then P (X=1)=
(a) 0.5 (b) 0.7 (c) 0.6 (d)0.8

In a binomial distribution, n =20, q = 0.75. Its mean =

(@5 (b) 15 ()3 (d) none of these
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34.

35.

36.

3k

38.

39.

40.

41.

42,

43.

44.

X is a binomial variable such that 2 P (X=2)=P (X =3) and mean of X is lmown to be 10/3.
What would be the probability that X assumes at most the value 2?

(a) 16/81 (b) 17/81 (c)47/243 (d)46/243

What is the probability of getting 3 heads if 6 unbiased coins are tossed simultaneously?
(a) 0.50 | (b) 0.25 (c)0.3125 (d) 0.6875

X is a binomial variable with n = 20. What is the mean of X if it is known that X is symmetirc?

(@)5 (b) 10 (c) (d)8

If X is a binomial variable with parameter 15 and 1/3,wha istheva of mode of the distribution
(a) 5and 6 (b) 5 @d@e6

i X (s, o) Wit wonilid i the heast vl e of X whenn =167

@2 (b) 4 $ @ V5

In a binomial distribution consisting f : "als, the prababilities of 1 and 2 sucesses

(a) 64/779 @
@yThe probability of getting at least 4 heads is:
@)732 (b)11/32 (¢)27/32 (d)21/32

6 unbiased coins are toss

The mean and variance of random variable X having binomial distribution are 4 and 2 respectively.
Then, P(X>6) is:

(a) 97256 (b) 7/256 (c) 19/256 (d)21/256

The probability of gettting exactly 4 heads in 6 tosses of a coin is:

(a) 15/60 (b) 15/64 (c) 13/64 (d) 10/64

The probability of a man hitting the target is 1/4. If he fires 7 times, the probability of hitting

Jﬁ

the target at least twice is:

51 3Y)° 15(3)°
@ 1‘(;}[1} (b)l—?[z) 0 _ 3 35 (d)l‘[
6

-L:»|ua
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45. A faiTr die is tosssed 8 times. The pr;)babilitysthat a third 7si)( is obsgrved on the eighth throw is:
(a) CZG—:S (b) &6;5— (c) C%—:S (d) None of these
46.  The probability that a man can hit a target is 3/4. He tries 5 times. Find the probability that he
hits the target at least 4 times.
(a) 81/256 (b) 81/28 (c)5/128 (d) none of these
47. An unbiased coin is tossed n times. Let X denote the number of times head occurs. If P(X =4), P
(X=35), P(X=6) are in A.P., then n=
(a) 7 only (b) 14 only (c)éi{ (d) 7,14 only
48.  If x denotes the number of sixes in four consecutive throvgé’é fa
() 1/1296 (b) 4/6 & :
49.  If the mean of a binomial distribution is 25, then %?
@10,5) (b) (0, 5}
50.  Five unbiased coins are tossed simujf neous
The value of n is:
(a)l (d)4
51.  The probability of havi n tin:n five throws with a coin is:
(a) 31/32 ‘ 32 () 1/5 )1
52. In eight throws of a die iigyonsidered a success. Then, the standard deviation of sucess is:
(a) 16/9 hb) 8/3 (c)4/3 (d)2/3
53.  Adieis thrown 100 times. If getting an even number is considered a success, then the variance
of the number of sucesses is:
(a) 50 (b) 25 (c) 10 (d) 100
54.  Adieis tossed 5 times. Getting an odd number is considered a success. Then, the variance of
distribution of number of sucesses is:
(a)8/3 . (b)3/8 - (c)4/5 (d) 5/4
55. 8 coins are tos§ed simultaneously. The chance that head on at least five of them is:
(@ *C ; (b)'C, ( ;—)B (©) % (d) none of these
56.  The average % of failure in a certain examination is 40. The probability that out of a group of 6

candidates, at least 4 pass in the examination is:

(a) 0.545 (b) 0.445 (c) 0.345 (d) 0.645
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57. The odds in favour of A winning a game of chess against B are 5 : 2. If three games are to be
played, then the probablity of odds in favour of A’s winning at least one game is:
(a) 225/343 (b) 325/343 (c) 325/326 (d)341/343

58. 3% of a given lot of manufactured parts are defective. The probability that in a sample of four items
none be defective is:
(a) 0.825 (b) 0.855 (c) 0.885 (d) 0.785

59.  Asample of 10 pieces was examined out of a large cons}g" nen which has 5% defective pieces.

Give the probability of 1 defective in the sample of 10 :
(a) '°C,(0.85)(0.95)" (b) °C,(0.05)(0.95)
60.  In tossing 10 coins, the probability of getting ;X _t-l.A‘ _-
(2)9/28 (b) 63/256 (d) 193/256

61. The binomial distribution with mean(

@+ 2)" ®) [(5

62.  The mean of binomial distribiition:is 80
(2) 200

63. The binomial distrik

L 50
/ r 5—) (d) none of these

d deviation 8. Then, the value of n is:
0 () 400 (d) 250

i L

hos%@ﬁ}m is 6 and variance 4 is:

i 2% 4 o 2\ IR b
(a) { T 3—j & = 3—] (c) [ ol 3—) (d) None of these
64. The mode of the distribut ( _i?or which mean =10 and S.D. - \/5 is:
(@) 10 N ©)9 d 12

65.  The probability that a marksman will hit a target is given as 1/5. Then, the probability of at

least one hit in 10 shots is:

(a) 1/5" (b) 1 — (4/5)"° () 1-1/51 (d) (4/5)10

66.  The mean of the binomial distribution is given by:
(@) 1—np (b) 1-nq () 1+pq (d)np
67. If mean of a binomial distribution is 3 and its variance is 3/2, then number of trials is:
(a)6 (b)2 (c) 12 (d) None of these

68. Out of 1,000 families of 3 children each, how many families would you expect to have two boys and
one girl assuming that boys and girls are equally likely?

(a) 275 (b) 175 (©) 375 (d) 475.
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69.  Asample of 10 pieces was examined out of a large consignment which has 5% defective pieces.

Give the probability of 1 defective in the sample of 10.

(@ "C,(0.85)(0.95)" (b) °C;(0.05)(0.95)° (c) (0.05)(0.95)’ (d) (0.05)(0.95)°
70. In tossing 10 coins, the probability of getting exactly 5 heads is:

(2)9/28 (b) 63/256 (c)1/2 (d) 193/256
71. The binomial distribution with mean 20 and'S.D. 4 is:
1 4 100 4 1 100 50
(a) [ 3t ;] (b) ( 5t S_J J (d) none of these

72.  The mean of binomial distribution is 80 and standard dc 6at ?il"hen, the value of n is:

(a) 200 (b) 300 (d) 250
73.  Thebinomial distribution whose mean is 6 and
1 2 18 1 2 18 < 18
(a) [ 5 3—] (b) [ Tk 3—1’] J (d) None of these
PN
74.  Themode of the distribution for whichmeah =1 5 is

(a) 10 Y . ! (d)12
75.  The probability that a marksman will hi given as 1/5. Then, the probability of at
least one hit in 10 shots is: : ‘ D
(a) 1/5'° . ) L Q : (c) 1 —1/510 (d) (4/5)1°
76.  Themean of the bi 0 nial digtrib y}l is given by
@i-np  © | ©1+pg @np
77. If mean of a binomial dlS E__})l}iﬁion is 3 and its variance is 3/2, then number of trials is:
(a)6 (b)2 ()12 (d) None of these

78.  Out 0f 1,000 families of 3 children each, how many families would you expect to have two boys
and one girl assuming that boys and girls are equally likely?
(a) 275 (b) 175 (c)375 (d) 475.

79. A die is thrown three times. Getting a 5 or 6 is considered a success. Then, the probability of three

successes will be:

(a) 1/27 (b)26/27 (©)2/9 (d) none of these
80. A dieis thrown 4 times, Probability of getting almost two 6 is:
(a) 0.984 (b) 0.721 (c)0.802 (d) 0.621

81.  Themean and S.D. of a binomial distribution are respectively 10 and 2. Then, the value of q is:

()1 (b) 0.8 (©) 0.6 (d) 0.4
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82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

The probability that a person will hit a target in shooting practice is 0.3. If he shoots 10 times,
then the probability of his shooting the target is:

(@1 | (b) 1-(0.7)% (c) (0.7)'° (d) (0.3)"

If X denotes the number of sixes in four consecutive thl;ows of a die, then P (X =4) is:
(a) 1/1296 (b)4/6 (©)1 (d) 1295/1296
The mean number of ‘sixes’ in two tosses of a die is:

(@ 1/2 (b) 1/3 | @1,

If x andy are two independent binomial variables with pa an? 1/2 and 4 and 1/2 respectively,

whatisp (x +y=>1)?

(a) 1023/1024 (d) none of these

Ifin a binomial distribution n =4, P (X =¢Q 16 4) is

(a)3/8 vy’ (d) 1/16

If 15 dates are selected at random, :\ﬁ'ﬁ blé | i;y."of getting two Sundays is:

(2) 0.29 ()0, (d0.23

In a box containing 100 bulbs, at is the probability that out of a sample of 5
bulbs none is defect;

(a) 10° (c) (9/10y° (d) 9/10.

If the overall percentag‘%i@}_s_‘l;ﬂ" cess in an examiantion is 60, what is the probability that out of a
group of 4 students, at leiﬁt one has passed?

(a) 0.6525 (b) 0.9744 (c) 0.8704 (d) 0.0256

Ifitis known tha the probability of a missile hitting a target is 1/8, what is the probability that
out of 10 missiles fired, at least 2 will hit the target?

(a) 0.4258 (b) 0.3968 (c) 0.5238 (d)0.3611

If 5% of the electric bulbs manufactured by a company are defective, use Poisson distribution
to find the probability that in a sample of 100 bulbs, 5 bulbs will be defective. [Given: e° = 0.007]
(a)0.1823 (b) 0.1723 (c)0.1623 (d) 0.1923

If a random variable X follows Poisson distribution, such that P (X=1) =P (X =2), then the
mean of the distribution is:

(a) 1 (b)2 ©3 (d) 4.
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93.

94.

95.

96.

L

98.

99.

100.

101.

102.

103.

If X is a Poisson variate with parameter m =1, then P (3 <X < 5), [Given : ¢1=0.36783] is:
(a) 0.01233 (b) 0.01333 (c) 0.01533 (d)0.2

If 5% of the families in Delhi do not use gas as a fuel, what will be the probability of selecting 10
families in a random sample of 100 families who do not use gas as a fuel? You may assume
Poisson distribution. [Given : e5=0.0067]

(a) 0.018 (b) 0.028 () 0.038 (d) 0.008

If the probability of getting a defective transistorin a co fﬁffyent is 0.01, find the mean and

transistors?
(a) (4,2) (©)(9,3)
It is known from past experience that in a certambg

ffwﬁh‘_

accidents per month. Then, the probab

[Given : e = 0.0183]
(a) 0.3332 |
. ».’. e q"-u
If 2% of electric bulbs mam% tured by ,' i
;"% !{}ﬁ E&ﬁ;w-*"
thatin a sample of 200.b lbs less 5}21 Ibs are defective. [Given : e*=0.0183]

Sinaily

£ ’x (b) Q,‘; ), (c) 0.092 (d) 0.062
- {ta 3
If a random variable: 5{1 Pmsson distribution, such that P (X=1) =P (X =2), its mean and

variance are:

(@ 1,1 (b)2,2 (@ 243 (d) 2, 4.

A random variable X has Poisson distribution with mean 2. Then , P (X > 1.5) equals
(6)0 ©1-

If X is a random Poisson variate, such that o =P (X=1)=P (X =2), then P (X = 4) is:

(@) 2 (b) /3 ©) ae” (d) ae?

If the mean of a Poisson’s distribution is ] , then is standard with mean m is:

@ 4 (b A2 © 2 () /11—

If the mean of a Poisson variable X is 1, what is P (X = at lest one) ?

(a) 0.456 (b) 0.821 (c)0.632 (d) 0.254

If the standard deviation of a Poisson variate X is 2, what is P (1.5<X<2.9) ?
(a) 0.231 (b) 0.158 (c)0.15 (d) 8e*
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104.

105.

106.

107.

108.

109.

110.

111.

A car hire firm has 2 cars which is hired out everyday. The number of demands per day for a car
follows Poisson distribution with mean 1.20. What is the proportion of days on which some demand

is refused ? (Given e'**= 3.32)

(a) 0.25 (b)0.3012 (c)0.12 (d)0.03

The standard deviation of x where x is a Poisson variate satisfying the condition P (X =2) =P
=3)is:

@ /3 (b)2 @15

The probability that a random variable X following Poi ution would assume a positive

value (1 — e?"). The mode of the distribution is:

(a) 2 (b) 3 & @1

The standard deviation of a Poisson variate is 1\3 What i the probability that the variate lies

between —2.3 to 3.68? i

(a) 0.65 (d)0.45

[Given E (X) = 2.20 and %
(a) 0.58 | i (d)0.38
If 2 % of electric b;ﬂbg man‘%lfac% /ed by a company are known to be defective, what is the

i #t \«f
probability thata sample of\],SO electric blubs taken from the production process of that comapny
would contain more thafi“g (jefectlve bulbs?
(a) 0.48 (b) 0.58 () 0.68 (d)0.42
The manufacturer of a centrain electric component is certain that 2 % of his product is defective.
He sells the components in boxes of 120 and guarantees that not more than two % in any box
willbe defective. Find the probability that a box, selected at random, would fail to meet the
guarantee? Given that e = 0.0907
(a) 0.48 (b) 0.58 (c)0.78 (d) 0.40.
In a certain factory turning out blades, there is a2 0.2% pfobability for any blade to be defective.
Blades are supplied in packets of 10. Using Poisson distribution, find the approximate number
of packets containing, one defective blade in a consignment of 20,000 packets:
[Given : ¢*% =(.9802] is
(a) 392 (b) 292 (c) 492 (d) 592
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

If2% of electric bulbs manufactured by a certian company are defective, then the probability
that in a sample of 200 bulbs more than 3 bulbs are defective. [Given: e~= 0.0183]

(a) 0.5669 (b) 0.4669 (c) 0.6469 (d) 0.7219

The probability that at most 5 defective bolts will be found in a box of 200 bolts, if it is known
that 2% of such bolts are expected to be defective. [Take e = 0.0183]

(a) 0.6845 (b) 0.5845 (c) 0.7845 (d) 0.5672

The probability that a man aged 45 years will die within a ){ ariy 0.012. what is the probability

(a) 0.954 (b) 0.994
The number of accidents in a year attributed (0

distribution with an average 2. Out of 500 taxi dl\\v“é /S’Q that area, what is the number of

drivers with at least 3accidents in a yéa ! ; ”yg

(@) 162 & do1 (d) 190

A book contains 100 misprints dlstnbuted gimut its 100 pages. what is the probability
that a page. What is the proba hse ed at random contains at least two misprints
Assume Poisson distr

(a) 0.264 (c) 0.164 (d) 0.274

Itis given that 3% of ele c&ulbs manufactured by a company are defective. Using the Poisson
i?y that a sample of 100 bulbs will contain exactly one defective is:

(a) 0.25 (b) 0.15 (c) 0.26 (d) 0.36

approximation, the probabyl

Itis known from past experience that in a certain plant there are on the average 4 accidents

per month. The probability that in a given year there will be less than 4 accidents is :

(a) 0.334 (b) 0.434 (c)0.534 (d) 0.234

If the two quartiles of N (., o?) are 14.6 and 25.4 respectively, what is the standard deviation of
the distribution?

(a)9 (b) 6 (c) 10 (d)8

If the quﬁrtile deviation of a normal curve is 4.05, then its mean deviation is:
(a) 5.26 (b) 6.24 (c)4.24 (d)4.86
If the mean deviation of a normal variable is 16, what is the quartile deviation ?

(a) 10.00 (b)13.34 (c) 15.00 (d) 12.05
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122,

123.

124.

125.

126.

127.

128.

129.

130.

131.

Ifthe 1st quartile and mean deviation about median of a normal distribution are 13.25 and 8 respectively,
then the mode of the distribution is:

(a) 20 (b) 10 (c) 15 (d)12

If X and Y are 2 independent normal variables with mean as 10 and 12 and S.D. as 3 and 4,

then (X +Y) is normally distributed with

(a) mean=22and 8.D. =7 (b) mean =22 and S.D. =25
(c)mean=22and S.D.=5 (d) mean.= 22 and S.D.=49

If the two quartiles of a normal distribution are 47.30 and‘f . J€Spectively, The mean deviation

about median of this distribution is :

(2) 3.20 (b) 2.40

(a) 0.65 Lo
A sample of 100 dry battery . : ength of life produced the follwoing results :
¥ =12, hours, g=3 hours.."'i \SSU 1 a%d be normally distributed, what percentage
of battery cells are f}g ed to 1 e life less than 6 hours.

(@) 2.1% A Y (b)228% (c) 3.28% (d) 4.28%

Find the probablllty%?.hat standard normal variate lies between 0 to 1.5.

(a) 0.5332 _7(b)0.4332 (c)0.332 (d) 0.632
Find the area under the nomal curve for Z = 1.64

(a) 0.4484 (b) 0.5484 (c) 0.6484 (d) 0.3484
Find the area to the right of Z = 0.25 |

(a) 0.3013 (b) 0.4013 (c) 0.5023 (d) 0.6023

A sample of 100 dry battery cells tested to find the lenght of life produced the following results :
= 12hours, ¢ =3 hours, Assuming the data to be normally distributed, what percentage of

battery cells are expected to have life more than 15 hours.

(a) 15.87% (b) 15.27% (c)14.87% (d) 16.87%

If the weekly wages of 5000 workers in a factory follows normal distribution with mean and

S.D. as Rs. 700 and Rs. 50 respectively, what is the expected number of workers with wages

between Rs. 660 and Rs. 720?

(a) 2.050 (b)2.200 (¢)2.218 (d) 2,300
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132.

133.

134,

135.

136.

137.

138.

139.

140.

141.

142.

In a sample of 120 workers in a factory the mean and standard deviation of wages were Rs. 11.35
and Rs. 3.03 respectively. Find the percentage of workers gettting wages between Rs. 9 and
Rs. 17 in the whole factory assuming that the wages are normally distributed.

(a) 70.1 (b)75.1 (c) 60.1 (d)65.1

If the standard deviation of the binomial distribution (q + p)'®is 2, the mean is:

(a) 6 (b) 8 (c) 10 (d) None of these

An experiment succeeds twice as often as it fails. Find fgeﬁjjfgbability that in the next 6 trials,

£

there will be at least 5 successes. -

(a) 496/729 (b)250/729 () 256/229 ) (d) none of these

'“e*lS/ 4 gpd’ﬁ/5/16 respectively. The number

If the meah and variance of binomial a distribqa ar
¥ ]

L

of trials is:

()5 (b) 4 (d) 20.

A binomial random variable satisfig YT tion'S (X= 4) =P(X =2) for n=6. The value of
the parameter p is: |

(a) 1/6 (d)1/8

] - ;_gy\g]’ﬁlls‘.’lf the experiment is repeated 5 times, what is the
atall?

(a) 1/824 (c) 1/1024 () 1/1124

7 coins are tossed 128 ti'ngg he distribution function of the binomial is:

(a) ]28C : %d

e 'j(b) e o (c) 128C’7 (d) none of these
The mean of a binomial distribution is 4 and its standard deviation is \/3— - The value of p is:
(a)0.5 (b) 0.25 () 0.75 (d)0.6
The probability of getting at least two heads when tossing a coin three times is:
(@)1/2 (b) 1/4 (c)1/8 (d)3/8
The incidence of occupational disease in an industry is such that the workmen have a 10%
chance of suffering from it. What is the probability that out of 5 workmen, 3 or more will contract
the disease?
(a) 0.0076 (b) 0.0086 (c) 0.0081 (d) 0.0091
Find the probability of a success for the binomial distribution satisfying the following relation 4 P
(x =4)=P (x =2) and having the other parameter as six.

(a)1/3 (b)2/3 (c) 1/4 (d) 3/4
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143.

144,

145.

146.

147.

148.

149.

150.

151.

152.

153.

154,

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
that of 8 heads, then the probability of getting 2 heads is:

(a) 105/2% (b) 2/21 (c) 105/2" (d) none of these

If the mean and the variance of a binomial variate X are 2 and 1 respectivély, then the probability
that X takes a value greater than 1 is equal to:

(a)5/16 (b)3/16 (c)11/16 (d)13/16

Probabilitty of happening of an event in an experiment is

(d) 49/64
etargetis 1/5. The probability out of six

s
es.

(c) 0.543 (d)0.426
@) Y2 (c)4 (d) 8.
6 dice are throwg 72‘9\3'1_  How many times do you expect atleast 4 dice to show a 4 or 5.
(a) 233 b i (c) 72 (d) 61
When 7 coins are tossed, the probability of getting exactly 3 heads is:
(a) 35/128 (b) 93/128 (c)7/128 (d)21/128
In a binomial distribution, mean is 5 and variances is 4. Then, the number of trials is:
(a) 20 (b) 30 (c)25 (d)35
A random variable X takes the values -1, 0, 1 Its mean is 0.6. If P (X =0) = 0.2, then P (X = )=
() 0.5 (b) 0.7 (c)0.6 (d)0.8
In a binomial distribution, n =20, q=0.75. Its mean =
(@) 5 b) 15 (c)3 (d) none of these

X is a binomial variable such that 2 P (X=2) =P (X=3) and mean of X is known to be 10/3.
What would be the probability that X assumes at most the value 29
(a) 16/81 . (b) 17/81 - (c)47/243 (d)46/243
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155. What is the probability of getting 3 heads if 6 unbiased coins are tossed simultaneously?
(a) 0.50 | (b) 0.25 (c) 0.3125 (d) 0.6875

156. X is a binomial variable with n =20. What is the mean of X if it is known that X is synimetirc?
(a)5 (b) 10 (c)2 (d)8

157. IfXisabinomial variable with parameter 15 and 1/3, what is the value of mode of the distribution
(a)5and 6 (b) 5 (c) 5.50 (d)6

158. If X~B (n, p). What would be the least value of the vgpgj@ge of Xwhenn=16?
(a)2 (b) 4 OF N @ 5

159. 1Inabinomial distribution consisting of 5 independent trmls;jyhg};pg{)abﬂities of 1 and 2 sucesses
are 0.4096 and 0.2048 respectively. The valué.o: . rpé?t“égxfy P is:
(@02 (b)0.3 j‘v‘ f’}“/(f:§04 (d) 0.5

160. If5% of the electric bulbs manufacturéifgx re defective, use Poisson distribution to
find the probability that in a samp Ibs will be defective. [Given: e¥=0.007]
(a) 0.1823 (b : (c)0.1623 (d) 0.1923

161. TIfarandom variable X follé-’ii " \ )tt_'jl’%gtx m, such that P (X =1)=P (X=2), then the
mean of the distributj'fqmis,_g\ \‘%\\/ (/t; e
(a) 1 4 @ 0 2“';? ©)3 (d) 4.

162. If X is a Poisson variate w it“hdparameter m =1, then P (3 <X <5), [Given : e'=10.36783] is:
(a) 0.01233 y ({)) 0.01333 (c)0.01533 (d)0.2

163. If5% of the families in Delhi do not use gas as a fuel, what will be the probability of selecting 10
families in a random sample of 100 families who do not use gas as a fuel? You may assume
Poisson distribution. [Given : ¢ =0.0067]
(a) 0.018 (b) 0.028 (c) 0.038 (d) 0.008

164.  Iftheprobability of getting a defective transistor in a consignment is 0.01, find the mean and standard
deviation of the number of defective transistors in a large, consignment of 900 transistors?
(@) (4,2) ®)©,3) (b) (4,2) @@,3)

165. Ttis known from past experience that in a certain plant there are on the average 4 industrial

accidents per month. Then, the probability that in a given year there will be less than 4 accidents.
[Given:e*=0.0183]
(a) 0.3332 (b) 0.4332 () 0.5332 (d) 0.632
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166.

167.

168.

169.

170.

171.

172.

173.

174,

175.

176.

If 2% of electric bulbs manufactured by a certain company are defective, find the probability
that in a sample of 200 bulbs less than2 bulbs are defective. [Given : ¢ =0.0183]

(a) 0.082 (b) 0.072 (c) 0.092 (d) 0.062

If a random variable X has a Poisson distribution, such that P (X=1) =P (X =2), its mean and
variance are:

(a)l,1 (b)2,2 (©) 243 (d)2,4.

A random variable X has Poisson distribution with meaﬁiZ.;\FlLe&p » P (X>1.5) equals

(@) 22 j \ 3

: ()0 L WEORS
If X is a random Poisson variate, such that a{;*ﬁ»iﬁ)i - (51&_ 2), then P (X=4) is:

e e

(@) 2a (®) a/3 (d) ae?
If the mean of a Poisson’s distribution is..4,, then ard with mean m is:

(@) A (b) 4 (d) ;lb_
If the mean of a Poisson variable

(a) 0.456 ¢b); (d) 0.254

};:i‘a:te'X is 2, whatis P (1.5<X<2.9) ?

(a) 0.231 x{( $ ;}(b) 0.158 (c)0.15 (d) 8e*

A car hire firm h&ﬁ;z‘__'c'-a}sfwg}uch is hired out everyday. The number of demands per day for a car
il

follows Poisson distribu ith mean 1.20. What is the proportion of days on which some
demand is refised ? (Given e4°=73.32)

(a) 0.25 (b) 0.3012 (c)0.12 (d) 0.03

The standard deviation of x where x is a Poisson variate satisfying the condition P (X=2)=P
(X=3)is:

@ /3 (b)2 © /5 @15

The probability that a random variable X following Poisson distribution would assume a positive
value (1 —e?’). The mode of the distribution is:

(a)2 (b)3 (c)4 (d)1

The standard deviation of a Poisson variate is 1.732. What is the probability that the variate lies
between —2.3 to 3.68?

(a) 0.65 (b) 0.75 () 0.55 (d) 0.45
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177.

178.

179.

180.

181.

182.

183.

184.

A discrete random variable X follows Poisson distribution. The value of P (X < 2/P X > 1).
[Given E (X) = 2.20 and 2= (.1108] is :

(a) 0.58 (b)0.48 (c) 0.68 (d) 0.38

If2 % of electric bulbs manufactured by a company are known to be defective, what is the
probability that a sample of 150 electric blubs taken from the production process of that comapny
would contain more than 2 defective bulbs?

(a) 0.48 (b) 0.58

et

of 100 bulbs, exactly 5 bule\are deféct ve

(a) 9/40 €? (c) 81/40 & (d) 81/40 €?

In a certain factoryxfu' mggut blad;s, there is a 0.2% probability for any blade to be defective.
% B

el

Blades are supplled in paclféts of 10. Using Poisson distribution, find the approximate number of
\‘

packets containing, one dg : ctlve blade in a consignment of 20,000 packets:

[Given: e =(.9802]is

(a)392 (b) 292 (c) 492 (d) 592

If 2% of electric bulbs manufactured by a certian company are defective, then the probability
that in a sample of 200 bulbs more than 3 bulbs are defective. [Given: e*=0.0183]

(a) 0.5669 (b) 0.4669 (c) 0.6469 (d)0.7219

The probability that at most 5 defective bolts will be found in a box o200 bolts, if it is known that
2% of such bolts are expected to be defective. [Take e = 0.0183]

(a) 0.6845 (b) 0.5845 (c) 0.7845 (d)0.5672

Xis a Poisson variate and P (X =0) = 0.2, then the variance of the Poisson distribution is:

(a)log(0,2) (b) log e’ (c)log5 (d)log 10,
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185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

The probability that a man aged 45 years will die within a year is 0.012. what is the probability
that of 10 such men at least 9 will reach their 46 th birthday ? [Given : ¢*'? =(.88692]

(a) 0.954 (b) 0.994 (c) 0.924 (d)0.914

The number of accidents in a year attributed to taxi drivers in a locality follows Poisson distribution

with an average 2. Out of 500 taxi direvers of that area, what is the number of drivers with at

least 3 accidents in a year?

(a) 162 (b) 180

Assume Poisson distribution.

(2) 0.264 (b) 0.364

h ¢ 0,164 (d) 0.274

Itis glven that 3% of electric bulbs Iglg E‘a L;Qf E;: company are defective. Using the
ulbs will contain exactly one defective is:
(2) 0.25 y () 0.26 () 0.36

- l":-(i:;__;_i;tdayl' plant there are on the average 4 accidents per

\ A
month. The probab{l}ty thq: in'a g ven-year there will be less than 4 accidents is :
(a) 0.334 /’ 4 \& )(b) Q§2P4 (c) 0.534 (d)0.234
X is a Poisson varlate&atl ylf}lg the following relation : P (X =2) =9 (X=4) + 90P (X = 6).

Itis known from past experle(l 't

Then the standard devxat
(a)l (b) 1.5 (c)2 (d)2.5

If the two quartiles of N (u, o ?) are 14.6 and 25.4 respectively, what is the standard deviation of
the distribution?

(a)9 (b)6 (c) lb (d)8

If the quartile deviation of a normal curve is 4.05, then its mean deviation is:

(a) 5.26 (b) 6.24 (c)4.24 (d) 4.86

If the mean deviation of a normal variable is 16, what is the quartile deviation ?

(a) 10.00 (b) 13.34 (c) 15.00 (d) 12.05
Ifthe 1st quartile and mean deviation about median of a normal distribution are 13.25 and 8 respectively,
then the mode of the distribution is:

(a)20 (b) 10 ()15 (d)12
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195.

196.

197.

198.

199.

200.

201.

202,

203.

IfX and Y are 2 independent normal variables with mean as 10 and 12 and S.D. as 3 and 4, then
(X+Y) is normally distributed with

(a) mean = 22and S.D.=7 (b) mean =22 and S.D. =25
(c)mean=22and S.D.=5 (d) mean =22 and S.D. =49

If the two quartiles of a normal distribution are 47.30 and 52.70 respectively, The mean deviation
about median of this distribution is :

(a) 3.20 (b) 2.40

(d)4.20
£ ek \\
Ifarandom variable x follows normal distribution with mean as 120 and standard deviation as 40,

n ﬂggt-t_hyﬁrea of the normal curve

between Z=0 to Z = 0.3734.

(a) 0.65 (d) 0.85

of life produced the follwoing results:

(2) 2.1% )2, (d) 4.28%
Find the probablllmff:@?ﬁq steﬁlﬁd rd normal variate lies between 0 to 1.5.

(2) 0.5332 / | )‘ F(b) 04332 (c) 0.332 (d) 0.632
Find the area under ;ﬁé“ROJIQI curve for Z=1.64

(a) 0.4484 ‘ (b) 0.5484 (c) 0.6484 (d) 0.3484
Find the area to the right of Z = 0.25

(2) 0.3013 (b) 0.4013 () 0.5023 (d) 0.6023

A sample of 100 dry battery cells tested to find the lenght of life produced the following results :
x=12 hﬁurs, o =3 hours, Assuming the data to be normally distributed, what percentage of
battery cells are expected to have life more than 15 hours.

(a) 15.87% : (b) 15.27% (c) 14.87% (d) 16.87%
If the weekly wages of 5000 workers in a factory follows normal distribution with mean and
S.D. as Rs. 700 and Rs. 50 respectively, what is the expected number of workers with wages
between Rs. 660 and Rs. 7207

(a)2.050 (b) 2.200 (c)2.218 (d) 2,300
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204.

205.

206.

207.

208.

209.

210.

211.

In a sample of 120 workers in a factory the mean and standard deviation of wages were Rs. 11.35
and Rs. 3.03 respectively. Find the percentage of workers gettting wages between Rs. 9 and
Rs. 17 in the whole factory assuming that the wages are normally distributed.

(@) 70.1 (b) 75.1 (c) 60.1 (d) 65.1

A discrete random variable x follows uniform distribution and takes the values 6,8,10, 12,18
The probability of P(x < 12) is[SM]
(a) 1/5 (b)4/5 (d)none

Kes the values 5, 7,12, 15,18

The probability of P(x > 10) is|[SM]
(a)3/5 (b)2/5
In a discrete random variable x follows uirm distrib
15, 18, 20. Then P(x = 9) is[SM] o
(2)2/6 (b) 1/

15, 18, 20. Then P(x = 12) is S\l\/{]
G
() 1/6

(a)1/2 (c)1 (d)none

In a discrete random variable x follows uniform distribution and assumes only the values 8,9, 11,
15, 18, 20. Then P(x > 15) is[SM]

(a)2/3 (b)1/3 ()1 (d) none

Fit a Binomial Distribution to the following Data

X 0 1 2 3 4
F 28 62 46 10 4

1 2 1 2
(a)n:4;N=150;P=§q=-3; (b)n—4,N—160,Pw3q—3
: 2 dyn=4 N—17’5'P—l "
(C)n_4;Nﬁ170:P_§q_3 ()l'l— » = > _3q 3
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212.  Ifa binomial distribution is fitted to the following data :

Xt 0 1 2 3 4

f: 16 25 32 17 10

then the sum of the expected frequencies for x =2, 3 and 4 would be

(@)58 (b) 59 (c) 60 (d) 61

213. A Typist commits the following mistakes per page i typing 100 pages fit a Poission

Distribution and calculate theoretical frequencies
Mistakes Per page (X) 0 1 2 3

Frequencies (f) 42 33 1
You are given that e'= 0.3679

(a) No. of mis. 0 1 5
Frequencies 37 37 18

(b) No. of mis. 0 5
Frequehcies 2 0

(c) No. of mis. 4 5
Frequencies 2 0

(d) No. of mis. 4 5
Frequencies37 37 18 6 3 0

214.  If a Poisson distribution is fitted to the following data :
Mistake per page 0 1 2 | 3 4 5
No. of pages 76 74 29 17 3 1
Then the sum of the expected frequencies for x=0,1 and 2 is

@150 (b) 184 ©165 () 148

215. If diameter of rings manufactured by a machine are normally distributed with 3 = 7c.m.
and S.D. =2cm. Find the number of rings having diameter between 4cm and 5.5 cm when

the total number of rings are 500. 0 <z<1.5=.4332 and 0 <z <.75=.2734

(a) 80 Rings (b) 82 Rings (c) 81 Rings (d) 90 Rings
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216.

217.

218.

219.

220.

Net profit of 400 companies is normally distributed with a mean profit of Rs. 150 lakhs
and a standard deviation of Rs. 20 lakhs.Given 0 <z <1.1=.3643 and 0 <z <1.25=.3944,
0<z<25=.4938,0 <z <.6=.2257, area 0 <z < 1.04 = .3508 Find the number of

companies whose profits( Rs. lakhs ) are
(i) less than 128
(a) 54 (b) 55

(ii) more than 175

(a) 43 (b) 41
(iii) between 100 and 138. Also

(a) 103 (b) 102 (d) 104

(d) 172

(a) 415 (c) 420 (d) 425

The mean and standard deviation of a graduation examination following normal distribution
are 250 and 50 respectively. If 275 students are to be passed out of 337 students, what
would be the minimum passing marks?

(a) X =208 (b) X =207 (c) X =205 (d) X =206

The wages of 5000 workers were found to be normally distributed with mean Rs. 2000
p.m. and standard deviation Rs. 120. What was the lowest wages among the richest 500
workers?0 <z <1.29= 4

(a) 1154.80 (b) 2154.80 (c) 2254.80 (d) 2144.80

In a normal distribution, 31% of items are under 45 and 8% are over 64, find the mean &

S.D. and of the distribution.
() X =40, ¢ =10 (b) X =30, 0 =10(c) X =50, 0 =11 (d) X =50, ¢ =10
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221. Inalarge group of men, 5% are under 60 inches in height and 40% are between 60 and 65

inches. Assuming a normal distribution, find the mean height and standard deviation.
(a) X =65.44, o =3.3 (b) X =62.44, ¢ =3.3
() X =65.34, o =3.1 (d) X =65.54, ¢ =3.2
222. Assuming that height of a group of men is normal, find the mean and S.D., given that 84%
of men have height less than 65.2 inches and 68% have heights between 65.2 and 62.8
inches.
(@) X =64, o0 =1.1 (b) X
() X =64, 0 =12
223. The following data gives the result of stude
Marks
under 35
35-50
50-60

60 and over

can & S.D.
(b) Mean=44.93 S.D=11.61
(d) Mean=44.93 S.D=11.62
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Additional Question Bank

1 b 47 d 93 c 139 b 185 b
2 b 48 a 94 a 140 a 186 a
3 a 49 a 95 d 141 b 187 a
4 b 50 c 96 b 142 a 188 b
5 a 51 a 97 c 143 a 189 b
6 a 52 c 98 b 144 c 190 a
7 a 53 b 99 c 145 a 191 d
8 b 54 d 100 b d 192 d
9 c - 55 c 101 e a 193 d
10 a 56 a 102 c C 194 a
i c 57 b 103 d a 195 c
12 b 58 c 104 b a 196 a
13 b 59 d 105 - c 197 b
14 b 60 b 106 i b 198 b
15 a 61 b 107 4 a 199 b
16 b 62 c 108, a' [ b 200 a
17 c 63 b 209 [ b)) ¥ 155 c 201 b
18 b 64 a |40 B b Ml 156 b 202 d
19 b 65 e £ 157 b 203 c
20 a 66 b | 114 158 a 204 d
21 b 67 T 159 a 205 c
22 a 68 L > b 160 a 206 a
23 a 69 _dum. b \ a 161 b 207 d
24 c. 70400D a 162 c 208 b
25 a ol T b 163 a 209 a
26 b 72 QIR b 164 b 210 b
27 a 73 Gy d 165 b L] a
28 c 74 @3 d 166 c 212 b
29 a 75 d d 167 b 213 d
30 a 76 d a 168 c 214 b
31 c 77 a c 169 b 215 a
32 b 78 c a 170 c 216 (i)a
33 a 79 a b 171 c (ii)d
34 b 80 a b 172 d (iii) ¢
35 c 81 d b 173 d (iv)b
36 b 82 b a 174 a 217 b
37 b 83 a b 175 a 218 C
38 a 84 b d 176 a 219 b
39 A, 85 a C 177 a 220 d
40 d 86 c d 178 b 221 a
41 b 87 a b 179 b 222 c
42 C 88 c b 180 C 223 o
43 b 89 b i 181 a
44 a 90 d b 182 a
45 c 91 a c 183 o
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= R CORRELATION & REGRESSION
ADDITIONAL QUESTION BANK
Part-1
If the coefficient of correlation between two variables is—0.9, whien the coefficient of determination is
(@) 0.9 (b) 0.81 (© ) (d)0.19

If cov (x,y)=15 what restrictions should be %ut for the ﬁﬂard deviations of xand y ?

(a) No restrication jj

X
(b) The product of the standard dev1at10ns shouldhe n}éré«{h/
(¢) The product of the standard dev1at1c(u§\' : )

5 ’@% than 15.

(d) The sum of the standard dev1atm_\' . 9lﬂd be les; i 15.

‘«(""'

what is the value of' ra\nig Eigrrelatmn coefficient?

(a) 0.7 | 4 (b) 0.65 () 0.75 (d)0.8

For 10 pairs of observations, the number of concurrent deviations was found to be 4. What is the
value of the coefficient of concurrent deviation?

(a) Vo2 (b)—0.2 (c)1/3 (d)-1/3.

‘While computing rank correlation coefficient between profit and investment for the last 6 years
of a company, the difference in rank for a year was taken 3 instead of 4. What is the rectified rank

correlation coefficient if it is known that the original value of rank correlation coefficient was 0.4?

(2)0.3 (b) 0.2 () 0.25 (d)0.28
Whatis the value of rank correlation coefficient between the following marks in Physics and Chemistry:
Roll No: , 2 3 4 5 6

Marks in Physics: 25, 30, 46, 30, 55, 80
Marks in Chemistry: 30, 25, 50, 40, 50, 78
(a) 0.782 (b) 0.696 (b) 0.932 (d) 0.857
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8.

10.

11:

12.

13.

14.

15.

16.

17,

18.

19.

If X and Y are independent variables, then Cov (X,Y) equals:

(a)1 (b)-1 (©)0 (d) None of these
The coefficient of correlation of r(x, y), when

> dx =14, deZZSG, 2.dy=0 Y d’=84 dudy=0is:

(a) 1 (b) -1 ()0 (d)0.5

The value of covariance of two variables x and y is 148«[3,511“1 the variance of x =272/3 and the
variance pf y is 131/3. Then the coefficient of corrﬁ ,,
(a) 0.78 (b) 0.87 fé;; 8
If the sum of the product of deviations of x andy;

coefficient will be:
(a) 1 (d) None of these

; covariance between x and y is 7.6 and the

(a)9.8 : () 9.05 (d) 10.05

The coefficient of correlas on bet o VO \ ables x and y is 0.5; their covariance is 16 and
S.D. of x is 4, then ' P

(a)4 ) (e) 16 (d) 64

If D is the diffefen ty een the corresp(mdmg ranks given by two judge in a beauty compeletion of
12 contesfants and\ﬁ }16 Then coefficient of rank correlation is :

(2) —0.4545 = ()-0.3545 (c) 0.4545 (d) 0.3545

If the sum of the squares of rank difference in the marks of 10 students in two subject is 4, then the

coefficient of rank correlation is :

(a) 0.85 (b) 0.95 () 0.75 (d)0.5
Ifp(X,Y)=0.5, Cov (X,Y)=16 and o, =4, then O'y=
(a) 4 (b) 8 (c) 16 (d) 64

The coefficient of correlation between Xand Yis 0.6 U and V are two variables

defined as U= 2 =2

2 H
(a) 0.6 (b) 0.3 (c)0.2 ()1
Two variables x and y are connected by the relation ax+by+c=0,where gh <(,then p(x, y)=
b
@ 4 B — ()1 (@1

If two variables X and Y are connected by the relation 2x + y = 3, then p(X,7) is equal to:
@l - (b) -1 (c)-2 (d) none of these
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20. With usual notation: N =10, C =7, then the coefficient of concurrent deviation is:
(a)0.75 (b) 0.65 (c)-0.65 (d)-0.75
21. If standard deviations for two variables X and Y are 3 and 4 respectively and their covariance is

8, then correlation coefficient between is:
2 L3 9 2
@ 3 ®) 375 O35 @ 5

22, If x and y arerelated as y —4x =3, then the natur ofqu&rrelation between x and y is:

23.
(a)1

24, The coefficient of rank correlation is calcula

2Y D?
n—.

62D2
n—n

(@r=1- (d)r=1-

/fx '_:;4 .
25.  Ifthesum of squares of the rank dlﬁ'e%gncemi athe)natlcs and Physics marks of 10 students is 22,
then the coefficient of rank correlat' nisy £ y
(a) 0.133 :

26. In a correlation analysi

(c) 0.867 (d) none of these

the'v ofthe Karl Person’s coefficient of correlation and its probable

90 artd/(} .04 respectively. The value of 7 is:

error were found to b

(a) 10 ¢ (b) 11 (c)9 (d)8
27. IfC=0,N=7,thenc ‘f':mjent of concurrent deviation is:
(2) +1 & (1)1 () 0.5 (d)-0.5

28.  The sum of the squares of difference in the ranks of 18 students in two subject is 46, then the
value of rank correlation is:
(a) 0.62 (b) 0.72 (c)0.82 (d)0.52

29.  Therank according to two atributes in a sample are given below:
R : 1 2 3 4 5

1

Rz 5 4 3 2 1

2
The Spearman’s rank correlation coefficient is:

(a) 1 (b)-1 (c) 0.5 (d)-0.5

30. If the coefficient of correlation between x and y is—0.92, then the coefficient of correlation between
U=2x+6,V=3y—-15is:
(a)—0.46 (b)-0.92 (c)-0.31 (d) none of these

31.  Iftherelation between the two variables is 2x + 3y =4, then the correlation coefficient between
them is:
(a)-1 (by1 (c)-2/3 (d) None of these
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33.

34.

35

36.

o 8

38.

39.

40.

41.

42,

43.

44.

45.

For a bivariate data: [(x, y)] =[(20,5), (21, 4), (22, 3)], the correlation coefficient between x and y is:
(a) 1 (b)-1 () 0.5 (d) 0.

The coefficient of concurrent deviation is given by:

2 Vi
(a) Sl (b) - cn - (c) — = (d) None of these

The coefﬁclent of correlation between two variables X and Y is 0.38. Their covariance is 10.2.

The variance of X is 16. The standard deviation of Y series is:

(a)5.71 (b)6.71 (d)8.71

The covariance between two variates X and Y of fi ej *a\nd their standard deviation
are 2.45 and 2.6 respectively. The coefficient of correwm tween them is

(a) 0.94 (b)-0.84 (d)—0.94

Given that the correlation between x and y is 0 correlatlon between 2x — 4 and 3 —2y is
(a) 0.5 (b) 0. 5. > (d)-1

Given the following data : n=nu servations = 10; C = Numbers of pairs of

i 5@%\% L

deviations having sign =9. The'co: fgi nt.of coricurrent deviation is:

(2) 0.79 /() 0.89 (d)—0.89

The coefficient of correlat\on betwl?_l: arities X and Y is 0.8 and their covariance is 20
Also o, =4, Then the standa d devlatlon of Y is:

(a) 6.25 s EE) 225 (c) 4.25 (d)7.25

Given C=9,r& én the number of pairs of deviation n is:

(a) 11 ) )10 ©)7 (d) 6
Ifdx=X-175,dy= Y? 50, ¥ dx=3, x4 =19, T dy= 40 ¥ dy?= 850, N=6, then the value of r is:
(a)-0.59 | (b) 0.59 (c)-0.47 (d) 0.47

If r=0.3, N=10, then the probable error of r is:

(a) 0.194 (b) 0.174 (c)0.184 (d)0.124

If r=0.7 and n =35, Then the probable error is:

(a) 0.25 ‘ (b)0.15 () 0.5 (d)0.10
IfP.E.=0.2,n =9, then the value of r is:

(a) 0.332 (b) 0.222 (c)0.232 (d) zero.

If the coefficient of correlation between X ahd Y is 0.65, then the coefficient of determination is:
(a) 0.48 (b) 0.52 (c)0.42 (d)0.32

If the coefficient of correlation r between X and Y is 0.25, then the coefficient of non-determination
between them is:
(a) 0.84 (b) 0.94 (c)0.74 (d) 0.64
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46.

47.

48.

49,

50.

51.

52.

% 8

Given is the following information:

X y
Arithmetic mean 6 8
Standard deviation 5 40/3.
Coefficient of correlation between X and Y is 8/15. The most likely value of Y when X = 100 is:
(a) 140.67 (b) 141.67 (c)241.68 (d) 94.68
Given : Unexplained variation =19.22, explained variation
(a)+0.71 (b)+0.75

If x and y arerelated by y = mx+c, mand ¢ beiné

9,70, then the coefficient of correlation, is:
: (d)+0.65

)hen coefficient of correlation r

between them is:

(a)1 , ()0 (d) None of these

If > x =52, Xy=64, ¥ xy =300,

(a)-0.23 (b) A (d)—0.53

The coefficient of correlation b%: i :

X: 64 60 b 4 | 69

y: 57 60 b i 68 s :

(a) 0.655 o (d) 0.758

What is the eoejﬁcﬁ orréi%}‘"on between the ages of husbands and wives from the following

data 2[SM] &

Age of husband (year\j“u 45 42 40 38 35 32 30 27 25

Age of wife (year): 37 35 31 28 30 25 23 19 19 18

(a) 0.58 (b) 0.98 (c)0.89 (d) 0.75

The coefficient of correlation between cost of advertisements and sales of a product on the basis
of the following data :[SM]

Ad cost (000 Rs): 75 81 85 105 93 113 121 125

Sales (000 000 Rs): 35 45 ap g 43 79 87 95

(a) 0.85 (b) 0.89 () 0.95 (d) 0.98

The following results relate to bivariate data on (x, y) :[SM]

> o= 414,% x=120,Y y= 90,23(;2 =600,) y2 =300,n = 30. Later or , it was known that
two pairs of observations (12,11) and (6,8) were wrongly taken , the correct pairs of observations

being (10, 9) and (8, 10) . The corrected value of the correlation coefficeint is
(a) 0.752 (b) 0.768 (c) 0.846 (d) 0.953
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54. What is the value of correlatioin coefficient due to Pearson on the basis of the following data[SM]
X: -5 -4 -3 -2 -1 0 1 2 3 4 5
y: 27 18 1 6 3 2 3 6 1 18 27
(a) 1 (b) -1 (©0 (d)-0.5
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10.

11.

12.

13.

Part-2
If the line Y =13 -3X /2 is the regression equation of y on x then byx is[SM]
(a)2/3 (b)-2/3 (c)-3/2 (d)-3/2
In the line Y =19 - 5X/2 is the regresson equation x on y then bxy is,[SM]
(a) 19/2 (b)5/2 (c)—5/2 (d)-2/5
The line X =31/6 - Y/6 is the regression equation of[SM]
(a)YonX (b)yXonY (c) both i (d) we can not say
In the regression equation x ony, X =35/8 -2Y /5 : }o[SM]
(a) -2/5 (b)35/8 ( : ; (d)5/2
The regression equation of Y on X is, 2x + 3¥ ?e value of b, is[SM]
(a)2/3 (b)-2/3 % (d) none
In theline Y =19 (5/2) X, b_is ecf"“'
(2)5/2 (d) None of these
32 (d)5/2
For the regressmn equatlon Qf Yoﬁ*X 2X +3Y +50=0. The value of b _ is
(d) None of these
(d) None of these

If the correlation coefficient between two variables X and Y is 0.4 and the regression coefficient

of X on Y is 0.2, then the regression coefficient of Y on X is:

()04 (b)+ 0.8 (¢)0.8 ' (d) None of these
Reression equation of Y on X is 8x—10y+66=0 and o, =3. Hence Cov (X, Y) is equal to:
(a) 11.25 (b) 7.2 (c)2.4 (b) None of these
Ifp (x,y)=0.4 and bxy= 0.2, then byxis equal to:

(a)—0.8 (b) 0.2 (c)0.8 (d)+0.8

Out of the two lines of regression givenby x + 2y —4 = 0 and 2x+3y—5 =0, the regression
line of x on y is:
(a) 2x+3y-5=0 (b) x+2y=4

©)x+2y=0 (d) The given lines can’t be regression lines.
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14.

15.

16.

17.

18.

19,

20.

21.

22,

23.

24.

25,

For a bivariate data, the two lines of regression are 4x—5y+33=0and 2x—9y+127=0.For this data r=

(@) 2/9 (b) 4/5 (c)5/4 @ 10/6

If = 10,' y=50, o, =3, o, =15 p =0.9, then the estimated value of x corresponding toy = 100 is:
(a) 19 (b) 20 (c) 18 (d) 21

If x =15, y =80, o, =2, the 0, =16,2=0.75, then the estimated value of y correspondingto x =25 is:
(a) 150 (b) 140 (c) 130 (d) 145

Given the following data : b, =2.33,b =0.39, then /thaxglue of correlation coefficient r is:
(2) 0.39 (b) 0.79 e

of determination is given by:

(a) 0.634 (b) 0.834 (d)0.534

Given the following data for a bivayi : bxy— 0.756,b_ =0.659, then the coefficient
of non-determination is given b, f

(a) 0.502 (d) 0.702

i
For the following data of blva

-

rlate“d

determination is:

(2) 0.9

= ©)x+2y=0 (d2x+y=0
The two lines of regressmn are 2x—7y+6=0and 7x-2y+1=0. What is the correlation coefficient

between x and y ?

(a)-2/7 (b) 2/7 (c)4/49 (d) None of these
Ifthe two lines of regressionare 3x — y —5 = 0and 2x — y — 4 = 0 then y and y respectively, are:
(2) 1 and -2 (b)—1 and 2 (c)2 and -1 (d)—2 and 1

You are given the following data: y =36, 0, =11; ¥ = 85, & , = 8 and correlation coefficient
between X and Y is 0.66. Find value of X when Y =75.

(a) 26.53 (b) 25.93 (c)26.93 (d) 27.93

The following relsults were obtained from the analysis of data on two variables Xand Y: X = 20,
y=15, Standard deviation of X =4, Standard deviation of Y = 3; r=the coefficient of correlation= 0.7.
The likely value of Y, when X = 24 is:

(a)17.9 (b) 17.8 (e)17.1 (d)16.1
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

In a partially destroyed laboratory record of an analysis of correlation data, only the following
results are legible: Variance of X =9

Regression equations :

EX-10Y+66=0 ... §))
40X —18Y =214 cssveues )
On the basis of the above information the value of o, is:
@2 (b)3 OF ™= @5
From the following data: o _ =3, I)xy =0.85 and byx 89, th ;@Iue of o, is:
(a) 3.57 (b) 3.07 (d)2.07

'- =—0.38. What should be the most
hkely value of X when Y =50?

(a)39.21 (b) 49.

The lines of regression of a bivals.gé

( (d) 59.21
‘e ais follows: 5X—145=—10Y ; 14Y —208=—8X.
The mean values (xv)is : '

@ (5, 12) ﬁﬂ“ 7 (©12,3) @ (3,12)

( ?)”—1.24 (c)2.1
xpetween x and y for the following data:

k=24, T = 44‘~~’ny 306, ¥ x*> =164, ¥ y* =574, N=4 is:

(a)-0.46 (b)2.3 (¢) 2.1 (d)—2.1

For the following data, byx= 1.24 bxy= 0.36, x = 5. g ; = 8.8, the regression line y on x is:
(@) y=124x+198 (b) y=-1.24x+1.98 (c) x=0.3y+2.86 (d) None of these
If 4x + 6y —1=0is the regression line of y on x ,then byx is equal to :

(d)-2.4

The regression coeffic'l. nt

(@)-GR) (b)-(2/3) © -/ i) (d) None of these

For the following data, 7~ =36, =85, ¢, =11, o , = 8, r=0.66 the regression line y on x is:
(a) y=048x-67.72 (b) y=048x—67.72 (c) y=091y—41.14 (d)None of these

If the coefficient of correlation between X and Y is 0.28, covariance between X and Y is 7.6 and
the variance of X is 9, then the S.D. of Y series is:

(a)9.05 (b)9.1 (b) 9.08 (d) 10.05.

If the two lines of regression arex + 4y = 3 and 3x + y =15, then the value of x for y =3 is:
(a)—4 (b) 4 (c)-3 (d)3
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37

38.

39.

40.

41.

42,

43.

44,

45.

46.

47.

48.

49.

50.

Let x = 15, y = 80, 0, =12, 0, =12, r=0,75. Then estimated value of y corresponding to x =55is:
(a) 110 (b) 120 (c) 100 (d) none of these

Two random variables have the regressionlines 3x + 2y = 26 and 6x + y = 3 1. The coefficient
of correlation between x and y is given by:

(a)-0.5 (b) 0.5 (c)0.25 (d) None of these
3x+4y—7=0and 4x+y—5=0 are the equations of two regression lines. The correlation coefficient
between x and y is:

(a) 0.43 (b)-0.43

(a) 4 L (©) 2qmaud @1
In a bivariate distribution b_=0.64 and b_=0,8;
(2) 0.413

en the q?,eﬂiclent of determination is given by:
‘*k(fcmén (d) 0.423

B

following statemgnt S true" % i @

(@b, =15,b /I 4 Kﬁa)}a 21 {Jb 09 (e)b,=15,b, =08 (d)b =15b =06
leen the followmg Qatg, 5

b, =-3/2,b =-1/2, rza—(f 75 then the value of o is:

(a) 2 (b)4 (©)9 (d)12
If 6,=6.4, 0,=8.0 and b _= 0.4, then the value of r is:

(a) 0.56 (b) 0.46 (c)0.36 (d)0.76
If 0,=6.4,b =0.4 and r=0.56, then the value of o is

(a) 56 (b) 49 (c) 64 (d)36
If o, =6.4, 0, =8 and r = 0.56, then the value of b__ is :

(a) 0.7 (b) 0.40 (c)-0.7 (d) 0.49

The regression line of y on x is:

y =109.21 - 1.245 x . The estimated value of y for x =62 is:

(a) 42 (b) 52 (c)32 (d) 26

Given the following data for two variables x and y : y =25.5, y=40, =24 0,=6,r=0.8.

The regression line of y on x is:

(@ y=11+2x (b) y=2x-11 ) x=11+2y (d) None
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31.

52.

53.

54.

D,

56.

37.

58.

If b, =4/5,r=0.73, o, =2.74, then the variance of x is:

(@) 3 (b)6 ©9 () 12
In a random sample of size 28; b,_=-1.5, (o, / o'} ) =0.25, then the value of Py Ty
(2)—0.75 (b) 0.75 () 0.95 () 0.85

If y = 3x + 4 is the regression line of y on x and the arithmetic mean of x is— 1. What is the

arithmetic mean of y ?
(@)1 (b)-1 é
The two lines of regression are given by 8x+10y=25 : !

(d) none of these

9
' }f 12 respectively. If the variance
of x is 25, what is the standard deviation ofj

(a)4 (b) 8 (d)6
The regression equation of y on x fof

96 127 74 123 100

X 41

y 28 /85 105 61 98 73

Is given by '

(@y=12x-15 (c)y=0.93x-14.64 (d)y=1.5x-10.89

(176,175) (169, 170) (170 , 173).
The regression equation of height of son on that of father of given by

(a)y =100+ 5x (b) y =154.03 +.1095x (c) y=89.653 +0.582 (d)y=88.758+0.562x
The two regression coefficients for the following data :[SM]

X! 38 23 43 33 28
y: 28 23 43 38 _ 8
(a)1.2 anci 0.4 (b)1.6and 0.8
(c)1.7and 0.8 ‘ (d)1.8and 0.3

Fory =25, whatis the estimated value of x , from the following data:[SM]

x: 11 12 15 16 18 19 21
y: 21 15 13 12 11 10 9
(a) 15 (b) 13.926 (c)6.082 (d) 14.986
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59.  Calculate the (i) two regression coefficient, (ii) coefficient of correlation, and (iii) the two
regression equations from the following data :[SM]
N = 10, D X =320, > ¥=380, D (X -32) =140,
> (Y-38)" =398, (Y -38)=-93
D (X-32)
(a) bxy =-0.3331, byx =-0.5643 (b) bxy =-0.2337, byx = -0.6643
r=-0.294 r=-0.394
X,=40.981 - 0.13374
Y, = 59.2576 - 0.6693x
(c) bxy =-0.7337, byx = -0.6643
r=-0.393 35
X_=40.881 - 0.23374 = 40,881~ 0.23374
Y, = 59.2576 - 0.6693x 2076 - 0.6693x
60.  For a bivariate data, you are givén the follov formation :[SM]
3 (X-44) =5, & -
D (Y -26) = -6, p 704
3 (X -44) (Y -26) = - 306
(a) X_ = 54.80 - 0.44 (b) X, = 64.80 - 0.44Y
Y, =78.67 - 1.219}%}; Y, =78.67 - 1.209X
r=-0.733 r=-0.733
(c) X =84.70 - 0.44Y (d) X_=74.80 - 0.44Y
Y, =78.66 - 1.219X Y =78.64 - 1.219X
r=-0.733 r=-0.733
61. By using the following data, find out the two lines of regression and from them compute the

Karl Pearson’s coefficient of correlation.[SM]

> X =250, DY =300, > XY =17900
D X =6500 > ¥* =10000 N =10
(@)X, =13+.4Y, Y =-10+1.6X, r=0.80

(b) X, =23+ 4Y, Y =-09+1.6X, 1r=0.80
(©)X,=33+.4Y, Y = -08+1.6X, r={.80

(d) X, =43+.4Y, Y, =-07+16X, r=0.80
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